2555 - FER DHIBEEORERE (H1245)

&E 70

FREAE E: =7 AR E LR
ANFEE E oL % &7 & 5E & BT E E 5L o T E &
1 BEOAR ! 2 : : 3 4
) 333 66.7 100. 0 25.0 75.0 3.7
2 ZFehB
-1 EROHE ! 12 1,
2;.0 ; 2:.0 sg.o . 33.3 33.3 28.6 zg_e 412%‘9 7ev4
3-1d Lo<YH 3 46 4 1 15
TR zg.o 5;1.0 li.s 12.5 1 2!13.6 4;.9 2.7 40.0 26.7 6.1 13.8
= &« N 7 2 6
— 2;,0 12.5 57‘0 12.5 12.5  25.0 3.8 12.5 3.5 ;3 1?4.7
3- B Om 3 1 2 3
* 66. 7 33.3 75.0  25.0 28.6 42.9 zge 76.4
4 Lizt=mh&
5 LomyR 2 2
1000 1.8
6 Ehen ! T
: e 1 100.0 100.0] 0.9
Ay A 1 1 2
: e — wg.o ; — 50.0 50.0 1.8
5o 8 10 9 37
9 e z?'.o 33.3 23.0 1;.7 ; 312.6 3.6 5.3 258 32.3 200 0.7 3.2 3128.4
N P M R S N IR T
- e 51;.1 ] 3:.4 18.2 36.4 4;.0 1 12.5 12.5 25.0 12.5 31.5] 14.7
25 YE 1333 333 383 40.0 20.0 3?5 3:7;.5 2%.0 87.3
&% 13 10 18 7 6 16 15 2 32 26 33 9 9 109
]:t$ 241 185 333 130 1 291 273 36 294 239 303 8.3 8.3 100.0
FRERE E2 =7 BEAM DR
B ARE T BL ¢ BF & T = = &%
1 $48EF 3 1 7 1 q:1 E?: =L “;: I:‘JZJ: ﬁ):I =T ﬂii 27
; il:&w‘%m'a_” 250 8.3 583 8.3 10.0 30.0 40.9 9.1 455 45 2goz
i 3T 47 A T
T 3-14.5,10 z;,s 45.5 1:13.2 g.l 1 42.9 286 z;a.s 1 36.0 36.0 240 4.0 22.9
2 2 3 1 8
3-146 | 20.0 20.0 40.0 20.0 33.3 33,3 33
& ESHEE A S M R R T TR ST
— ﬁag 1.4 17.4 30.4 17.4 114 25.0 33.3 25.0 4.2 21.3 25.5 277 10.6 149 43.1
& 2 i 37 2 TRy :
34| 667 33.3 75.0 25.0 28.6 42.9 28.6 76.4
2% 13 10 18 7 6 16 15 2 32 26 33 9 9 109
btﬁ 241 185 333 130 1.1 29.1 273 38 294 239 303 83 8.3 100.0
80
70—~—-i¥ Ni=41
— T N=41
El £k N3=2196
60:
20!
10 R 1= 6.5(14.10) R 1= -1.1(16.38) R 1= Ri=  4.5(8.98) Ri= 8.1(8.12) R 1= 8.3( 8.82)
R 2= 12.8(10.08) R 2= 2.7{(14.48) R 2= R 2= 5.5(10.19) R 2= 7.3(10.88) R 2= 10.7( 5.62)
3 R 3= 10.8(13.03) R 3= 0.0(14.40) R 3= R 3= 5.1( 8.79) R 3= 6.5( 9.39) R 3= 8.7( 8.16)
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2585 -2 EADHBEORERE (H224)

B2 S AR (%) EF KR
ERRERE BF _ =xF LS

AR & $F $ FF E (|| & Pt o pF B S| & $L $ PF & | S5
s 2 2 1 3 2 1 3

1 BrEesr# 66.7 33.3 5.4 66.7 33.3 2.7

2 CEOME

- I 11 2 1 1 3 1] 6 1 2 4 1187

-1 EpomE 50.0 50.0 3.6| 16.7 16.7 50.0 16.7] 10.9] 125 250 50.0 125 1.2
- . 1 4 2 2 9 1 6 5 1 13 2 10 1 3 22

8-1d Lo<KYH 1.1 444 222 222 16.1] 7.7 46.2 385 717 23.6] 9.1 455 31.8 13.6 19.8
_ ot | 3 4 3 2 12 2 1 9 12 5 5 12 2 24

2 GoehR 250 33.3 250 16.7 21.41 16.7 83 750 21.8] 20.8 20.8 50.0 8.3 21.6
_ 2 2 2 2

3-4 TR B 100.0 3.6 100.0 1.8
4 1 1 1 1

4 Li=tf=-Hh& 100.0 1.8 100. 0 0.9
1 1 1 1 1 1 2

5 Lomyil 100,0 1.8{ 100.0 1.8] 50.0 50.0 1.8
1 1 1 1 1 1 2

6 shendl 100.0 1,81 1000 1.8] 50.0 50.0 1.3

7 Ligoni

] 4 4 2 1 11 3 5 3 1 1 13 3 9 1 3 2 124

8 [E>DYE 36.4 364 182 o1| 19.6] 221 385 231 77 17 23.6] 125 375 29.2 125 83| 216
o j 3 4 5 1 13 3 1 2 6 3 4 6 5 1119

9 [ETemni 23.1 30.8 385 7.7] 23.2| 50.0 16.7 33.3 10.9] 15.8 21.1 31.6 263 53| 171
j 1 1 1 2 3 2 2 4

10 EFobUH 100.0 1.8 33.3 66.7 5.5 50.0 50.0 3.6

&8 4 18 19 13 2 36 12 15 24 2 2 5 16 33 43 15 4 1
BREE 71 321 339 232 36 1000 218 273 436 36 36 1000 144 297 387 135 36 1000

EEE AR (%) EFHHhR
eSS

BaREE __ 5F ! Z¥ 1 i
FERIAFE tht b pF E |Gt & L b FF E|EH|E £+ b T & | E&FH
1 $48B8E%F 3 4 5 K 15 2 1 9 12 5 5 14 3 27

123-27 | 20,0 26.7 33.3 20.0 26.8] 16.7 8.3 75.0 21.8] 18.5 18.5 5.9 1I.] 24.3
O FLHEF 1 6 2 2 11 2 7 7 1 17 3 13 9 3 28

3-1d510 | 9.1 545 18.2 18.2 19.60 1.8 41.2 41.2 5.9 30.9] 10.7 46.4 32.1 10.7 25.2
m FAERF 1 2 1 4 2 1 3 1 7 2 2 5 1 1 1

1-146 25.0 50.0 25.0 7.1| 28.6 14.3 42.9 14.3] 12.7] 18.2 18.2 455 91 o1l 99
V &2U0HF 7 8 7 2 | 24 6 6 5 1 1 19 6 13 13 8 3 |43

89 20.2 33.3 202 83| 429/ 31.6 31.6 263 53 53| 345 140 302 3.2 186 70| 387
VE R B 2 2 2 2

3-4 100. 0 3.6 100.0 1.8

&% 4 18 19 1 2 56 12 15 24 2 2. 55 16 33 43 15 4 1M
HEE 71 321 339 232 36 1000 218 273 436 36 36 1000 144 297 387 135 36 1000

— BF Ni=44
— %F N2=50
70_ ----- 24k N3=2196
60
50

10: R 1= 11.0(16.42) R 1= -2.2(11.68) R 1= -2.1(13.04) R 1= 6.4(8.27) R1=  4.7(8.71) R 1= 10.5( 6.22)
R 2= 13.2{(10.01) R 2= 6.2(11.43) R 2= 0.7(11.38) R 2= 7.1(10.12) R 2= 7.3(7.89) R 2= 8.8(6.75)
7 R 3= 10.5(13.03) R 3 0.0(14.40) R 3= 3.3(12.95) R3= 5.1{98.79) R 3= 6.5(8.39) R 3= 8.7( 8.16)
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2587 - FER DD RZRHE (H3EHK)

s 72

M AR(%) EF AR
CEY

RERE 57 &7 T :
AFEER = oOF @ BF B |8 & PL ® BF K|S B st & #F & [ &5t
e 1 1 2 1 1 2 1 3
B BrEehE §0.0 50.0 3.6 100, 0 .8 66.7 33.3 2.7
2 CEPME
_ (> 1 1 2 1 1 1 2 3
-1 EaSAd 50.0 500 3.6 100.0 1.8] 33.3 66,7 2.7
_ . ] 2 5 1 8 1 2 5 1 1 10 1 4 10 2 1 18
3-1d Lo<KYH 25.0 62.5 12.5 14.3] 10.0 200 5.0 10.0 10.0] 17.5| 56 222 8.6 1.1 56| 159
— - ] 2 3 4 1 10 2 1 2 3 8 2 3 5 7 1 18
32 moeAd 200 30.0 40.0 10.0f 17.9| 25.0 12.5 25.0 31.5 140l 1.1 167 278 389 56 159
- y 1 1 2 4 2 1 3 3 1 3 7
4 fF R M 25.0 25.0 50.0 7.1] 66.7 33.3 5.3| 429 143 42.9 6.2
4 Licf-h#
[RE:{] 1 1 1 1
5 Lomid 100.0 1.8 1000 0.9
] 2 1 3 1 1 2 2 4
6 Eheiil 66.7 33.3 5.4 100. 0 1.8 50.0 50.0 3.6
~ iy 1 1 2 2 1 3 3 2 5
1 Lzl 50.0 50.0 36| 66.7 333 53| 60.0 40.0 44
g 3 6 2 3 1 15 4 11 5 2 1 23 7 17 7 5 2 | 38
8 EooUH 200 40.0 13.3 200 6.7 26.8] 17.4 478 21.7 87 43| 40.4] 184 447 184 132 53| 336
2 1 1 3 2 3 10 1 3 4 1 2 3 5 3 14
9 [ETend 0.0 10.0 30.0 20.0 30.0| 17.9 25.0 75.0 7.0] 7.1 143 2.4 35.7 2.4 12.4
E. | 1 1 2 1 1 2
10 EobYH 50.0 50.0 3.5 50.0 ' 50.0 1.8
aF 7 14 19 i1 5 56 11 18 15 11 2 57 18 32 34 22 7 113
H:EE 125 25.0 339 19.6 8.9 100.0 19.3 316 26.3 19.3 35 100.0 15.9 283 30.1 185 6.2 100.0
£ A28 (%) &1
BRERE] 97 B < : LETS :
AR = BFE $ BF K|Sl & B & Pr B (S & BF & fF 8 | &F
1 §4885F 1 4 4 4 1 14 4 3 2 3 12 5 7 6 7 1 26
123-27 | 7.1 286 28.6 28.6 1.1| 25.0| 333 250 16.7 250 o11] 192 269 231 269 38| 230
I FLOHGEF 2 5 1 8 1 3 6 2 1 13 1 5 11 3 1 21
314510 25.0 62.5 12.5 143 7.7 931 452 154 771 228 48 238 524 1.3 48l 186
oM ITAEEF 1 3 1 5} 1 1 2 1 4 2 7
3-146 | 20.0 60.0 20.0 8.9 50.0 50.0 350 14.3 5.1 28.6 6.2
WV &2 UREF 4 7 5 5 4 125 12 5 5 1 27 8 19 10 10 5 152
i 8.9 16.0 28.0 200 200 160 446l 148 404 185 185 37| 474 154 365 192 192 96 460
v B OB 1 1 2 4 2 1 3 3 1 3 7
3-4 25.0 25.0 50.0 7.1| 66.7 3.3 5.3) 42.9 143 42.9 6.2
&F 7 14 19 11 5 56 11 18 15 11 2 57 18 32 34 22 7 113
H_’,$ 125 250 339 19.6 B89 100.0 19.3 31.6 263 19.3 35 100.0 15.9 283 30.1 19.5 6.2 100.0
80,
1— 87 N=a1
— &7 Np=45
70_: """ 24k N3=2196
60
50, \
= = . . = . A. = 5.98(11.17} R1=  7.2( 9.62) R 1= 7.9( 7.50}
10] ) oeoe e o Ra Vot s A h ea( BT R 40900 ho 7570
_l R 3= 10.5(13.03) R 3 0.0(14.40) R 3= 3.3(12.95) R3= 5.1(9.79) R 3= 6.5{ 9.39) R 3= 8.7( 8.186)
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“r 73
258A -2 ERIDRIBBED REZRY (HA2=HK) .
B B (%) - T 1848
TRERE] BT : T 1 Exaw
AWEER = Bt B BT EB|&H| & #F &b hF E |G| & FE F GF & | S5
Y 1 1 2 1 1 1 2 3
! BEeHE 50.0_50.0 3.5 100.0 1.8 3.3 66.7 27
2 ZFEPHME
_ = 1 1 3 1 6 1 1 2 1 1 4 2 8
1 EASAE 16,7 16.7 50.0 16.7 10.5 50.0 50.0 36| 125 12.5 50.0 25.0 1
- - 4 ] 3 18 4 4 1 1 10 2 8 13 4 1 28
3-1d Lo<YE 1.1 222 50.0 16.7 31.6 9.0 400 100 100 182 7.1 286 464 143 36| 250
_ s = 1 1 3 2 7 1 3 1 1 6 2 4 4 3 13
82 oeAE 14.3 14.3 42.9 28.6 12.3 16.7 50.0 167 16.7 10.9] 154 30.8 30.8 231 11,6
. = j 1 1 1 3 4 1 3 1 5
4 ®m R U 100.0] 1.8 25.0 75.0 1.3 20,0 60.0 20.0] 45
4 Li=f-m¥
i 1 1 1 1
5 LonyXH 100.0 1.8 100.0 0.9
| 1 1 1 1
6 shenil 100. 0 1.8 100. 0 0.9
~ 2 2 3 1 4 3 3 6
! Lgemdl 100, 0 3.5| 75.0 25.0 7.3] 50.0 50.0 5.4
1 8 4 3 16 4 7 3 2 16 5 7 1 6 3 {32
8 ooy 6.3 50.0 25.0 18.8] 281 250 43.8 (8.8 2.5 20.1| 15.6 210 344 188 94| 286
T 1 2 1 4 1 3 3 1 8 2 3 5 2 12
9 ZTeni 25.0 50.0 25.0| 1.0 12.5 37.5 315 12.5| 14.5 16.7 25.0 41.7 16.7] 10.7
1 1 1 1 2 2 1 3
10 gosYH 100.0 .8 50. 0 50.0 3.6 66.7 33.3 2.7
& 5 1" 24 12 5 57 9 18 16 10 2 55 14 29 40 22 7 112
ﬂ:$ 8.8 19.3 42.1 21.1 8.8 1000 164 327 29.1 182 3.6 100.0 125 259 35.7 196 6.3 100.0
B A% (%) LT AR
BARRE] 57 T %F 1 mEan :
FUNAFE = PE & b F BlIAHE PE b T E|SFHIE $hE b T B |8F
1 $§hsiaF 1 4 4 2 i1 4 4 2 1 1 5 8 6 3 22
123-27 | 9.1 36.4 364 18.2 19.3] 36.4 36.4 18.2 9.1 20.0| 22.7 36.4 27.3 13.6 19.6
I FLHEF 2 5 9 3 19 1 5 4 2 1 13 3 10 13 5 1 32
3-145.10 | 10.5 26.3 47.4 5.8 33.3] 7.7 385 308 154 17| 23.6| 9.4 31.3 40.6 156 3.1] 286
O IFASHEF 1 1 3 1 6 1 2 3 1 1 4 3 9
3-146 | 16.7 16.7 50.0 16.] 10.5 33.3 667 5.5 1.1 1.1 44.4 333 8.0
NV E-URHF 1 1 8 6 4 20 4 8 6 5 1 24 5 9 14 1 5 | 44
] 8.9 50 50 400 30.0 20.0| 351| 167 33.3 250 208 42| 436 11.4 20.5 31.8 25.0 11.4| 39.3
ViE & & 1 1 1 3 4 1 3 1 5
3-4 100.0f 1.8 25.0 75.0 7.3 200 60.0 20.0] 4.5
&8 5 11 24 12 5 57 9 18 16 10 2 55 14 29 40 22 7 12
kt $ 8.8 19.3 42.1 2t 8.8 100.0 164 327 291 18.2 36 100.0 125 259 357 19.6 6.3 100.0
80;
1— B7 n=53
— &F N2=51
70j “““ £k N3=2196
60
50
40

10 R 1= 10.4{15.19)
R 2= 12.2(14.78)
3 R3= 10.5(13.03)

Ri= -1.2(14.47)
R 2= -0.1(12.56)
R 3= 0.0(14.40)

R 1=
R 2=
R 3=

6.4(12.62)
9.5(12.70)
3.3(12.95)

R1 5.5( 9.00)
R 2 5.7(10.51)
f 3 5.1( 9.79)

R I=
R 2 10.1(0.91)
R 3=

5.9(8.78)

6.5( 9.30)
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R 74
2587 2 ERDRIBRED R ZHY (H52F)

B A (%) EFER
EMERE B¥ ZF 1 R0
MERE = Bt h hF E|EF|®m Pt f hT E|EH|® PE P BT E | S
< 1T 1 2 2 2 1 3 4
”,~1 BEPHE 50.0 50.0 3.5 100.0 3.6 25.0 75.0 3.5
2 CEeNE
o . 1 1 1 2 176 12 3 1 238 2 11 9
31 At 5 A 16.7 16.7 16.7 33.3 16.7 10.5 33.3 66.17 5.4 11.1 22,2 33.3 222 Il.1 8.0
s . ’ 5 3 3 11 2 2 8 1113 27 1T 3 1|24
3-1d LodyH 45.5 27.3 21.3 19.3] 15.4 15.4 61.6 1.7 23.2 8.3 29.2 45.8 12.5 4.2 21.2
" s = ’ 31y, 10 1 31 5 4 1 71 3 15
3-2 moend 30.0 100 40.0 20.0 17.5] 20.0 60.0 20.0 8.9] 26.7 6.7 46.7 20.0 13.3
_ = 5 1 1 2 113 2 114
] 3-4 B R A 100.0 1.8 66.7 33.3 5.4 50.0 25.0 25.0 3.5
4 Ltf=f=-ng
5 Lomy 3
' g 1 1 1 1
6 éb‘\bb\& 100.0 1.8 100.0 0.9
- y 12 3 1 1 13 4
7 Lizohd 33.3 66.7 5.3 100.0 1.8] 25.0 75.0 3.5
U 5 174 2 2 312 271 8 1 12 3775 10 3 3
8 [Eoo ) & 8.3 33.3 16.7 16.7 250 201 16.7 8.3 66.7 8.3 21.4] 12.5 20.8 41.7 12.5 12.5 21.2
. ) 1 2 2772 370 1T 1 1 1 2|8 27738 s | 16
9 RTehd 10.0 20.0 20.0 20.0 30.0 17.5] 16.7 16.7 16.7 16.7 33.3 10.7f 12.5 18.8 18.8 18.8 31.3 14.2
Y 1 1 3 5 3 11 35 4 12
10 Fo>bUE 100.0 1.8 27.3 45.5 27.3 19.6) 25.0 41.7 33.3 10.6

& 7 16 14 13 7 57 g 1 29 3 4 56 16 27 43 16 11 M3
HE 123 281 246 228 123 1000 {61 196 518 54 71 1000 142 239 381 142 97 1000

B\ (%) L 19E0R
ER i

BAREE] BT 1 %F T ]
AR & Tf & wT B |G| & BE ® BT E|&H| & BF @ ot B A%
1 $4a848F 4 4 5 2 15 1 1 5 1 8 5 5 10 3 23
1.23-2.7 26.7 26.7 33.3 13.3 26.3] 125 12.5 62.5 12.5 14.3] 21.7 21.7 43.5 13.0 20.4

I FLHIEF 5 4 3 12 5 7 1 1 | 24 5 12 15 3 1136
3-1d.5,10 41.7 33.3 25.0 21.1]1 20.8 29.2 45.8 4.2] 42.9] 13.9 33.3 41.7 B3 2.8]  31.9

oI FAEEF 1 1 1 3 1 7 1 2 3 1 2 3 3 1110
3-14.6 14.3 14.3 143 42.9 14.3] 12.3 33.3 66.7 5.4 10.0 20.0 30.0 30.0 10.0 8.8

V &E2U%F 2 6 4 4 6 | 22 3 2 9 2 2 |18 5 8§ 13 6 8 | 40
5 8.9 9.1 27.3 18.2 18.2 27.3] 38.6] 16.7 11.1 80.0 11.1 11.1 32.1] 12.5 20.0 325 15.0 20.0] 354

VE & # 1 1 2 1 3 2 1 1 4
3-4 100.0 1.8 66.7 33.3 5.4 50.0 25.0 25.0 3.5

& 7 16 14 13 1787 9 11 29 3 4 56 16 27 43 16 11 113
H# 123 281 246 228 123 1000 (61 196 518 54 70 1000 142 239 381 142 97 1000

80;

1— =7 n=ts
70_ R hegtos
60;

90;
40

E V\/\_/\
30T e

20 Yo

10 R 1= 0.5(i2.99) R 1= -0.3(16.52) R 1= 3.8(11.54) R 1= 5.9(10.34) R 1= 7.2( 8.38) R 9.5( 9.90)
R 2= 11.3( 8.57) R 2= 2.9(10.59} R 2= 1.3( 8.57) R 2= 7.3(7.79) R 2= 8.1(7.38) R 2= 8.4( 4.56)
3 R 3= 10.5(13.03) R 3= 0.0(14.40) R 3= 3.3(12.95) R 3= 5.1 8.79) R 3= 6.5(9.39) R 3= 8.7( 8.16)

14 2% 3% A% 54 64F



gr 75

2587 - FERDAIMEEDRERFS (H62WK)

B A (%) & T B4R
RERE ¥ ) 5a 1 BREY

AFREE & wFt b 8T B ([ & Bt B T B |EH|IE hE B BT B | &5
NS J 1 2 3 1 1 2 2 1 2 5

1 BEEPHE 33.3 66.7) 5.4| 50.0 50.0 3.6| 40.0 200 40.0| 4.5

- i i 1 1

2 '—i%ﬁ\ﬂ 100.0 1.8 100.0 0:,9

_ <5 B 1 1 T 1 1 2 5 1 1 2 2 6

-1 EpoAE 100.0 1.8] 20,0 20.0 20.0 4.0 9.1f 167 16.7 333 333 5.4
_ . y 1 4 2 1 8 2 3 5 10 3 4 5 6 18

3-1d  Lo<YEH 12.5_50.0 25.0 2.5 14.3] 20.0 30,0 50.0 18.2| 16.7 22.2 27.8 33.3 16.2
_ et y 3 2 6 1 12 2 3 6 1 1 13 5 5 12 2 1 25

82 mIehd 25.0 16.7 50.0 8.3 214|154 231 462 77 1.7 23.6] 200 200 480 80 40| ms
_ = 5y 1 1 1 1

34 @ BrR OH 100. 0 1.8 100. 0 0.9

4 Lizt-n¥8

L) F 1 1 1 1

5 LomyE 100.0 1.8 100.0 0.9

6 Shoenil

- ] 4 1 5 1 1 2 5 2 7

/ Lazemndl 80.0 20.0 8.9] 50.0 50.0 3.6] 71.4 286 6.3
y 1 2 5 3 " 3 3 2 1 9 1 5 8 5 1 20

8 [EoDUH 9.1 18.2 45.5 21.3 19.6 33.3 33.3 222 11| 16.4] 5.0 250 40.0 250 50| 180
= 1 1 3 1 4 5114 1 1 1 2 2 7 2 4 2 6 7121

9 [ZTemni 7.1 214 7.1 286 357 2500 143 143 143 286 28.6| 127 9.5 19.0 8.5 286 33.3 189
j 1 1 1 2 2 5 1 2 3 6

10 EobYH 100.0 1.8] 20.0 40.0 40.0 9.1] 16.7 33.3 50.0 5.4

& 11 11 17 10 7 56 9 10 17 15 4 55 20 21 34 25 11 1
H3 186 196 304 179 125 {000 164 182 309 273 73 1000 180 189 306 225 99 1000

BZ A B (%) LT ERR
EESHN

FRERE| 5F _ ZF 1 _
BOAAR m Pt o pF K |SE|E L B hF E [ SE|®E PL P T K|S
I §a84EF 8 2 7 2 2 12 4 3 1 2 1|17 12 5 14 4 3 |38
123-27 | 381 95 333 95 96| 376 235 1.6 41.2 1.8 59| 309 31.6 13.2 368 10.5 7.9/ 342

I £LHEF 1 4 3 1 9 3 2 5 6 16 4 6 8 7 25
3-1d510.1 111 444 333 111 16.1] 18.8 12.5 31.3 31§ 29.1) 16.0 240 32.0 28.0 22.5

o HFAERF 1 1 1 1 1 2 5 1 1 2 2 6
3-1,4.,6 100.0 1.8] 20.0 20.0 26.0 40.0 9.1 16.7 16.7 333 33.3 5.4

NV &oURT 2 5 6 1 5125 1 4 4 4 3 |16 3 9 10 N 8 | 4
o 8.9 8.0 200 240 280 20.0] 44.6] 63 250 250 250 188 20.1| 7.3 220 24.4 26.8 19.5] 369

VE R B 1 1 1 1
34 100.0 1.8 100.0 0.9

g6 1t 11 17 10 7 56 8 10 17 15 4 585 20 21 34 25 11 1N
K= 196 196 304 179 125 1000 164 182 309 273 73 1000 180 189 306 225 99 1000

— BF Ni=48
TJO — &F Ne=47

“““ 20k N3=2196

; = R 1= 8.3(7.35)
10 R 1= 12.8(13.38) R 1= -0.2(11.74} R 1= 2.0(14.64) R 1= 4.7(10.40) ;;;: gii 2:;; Ri- o ea7

R Nortsm R oo e ;; (2: :?E‘;ggi R 3= 5’5( 9.39) R 3= B.7( B.16)
-4 R 3= 3.3(12.95) = . . & . .
i R 3= 10.5(13.03) R 3 0.0{14.40) 3 (

14 24 3% 4% 54 64F



=R 76
258171 2 E R DB DR ERE (H7£K) _
Bl A3 (%) ET1ghig
AR S T ] CESE ]
AREY E BE B GF E S| 8 L B HF B Q| = PL & BT & | S5
32 1 2 1 4 2 1 3 2 1 2 2 7
1 srendl 25.0 50.0 25.0 7.1] 66.7 33.3 5.2] 28.6 14.3 28.6 28.6 6.1
= 1 1 1 1
2 cEeadl 100. 0 1.7 100.0 0.9
_ < | 1 2 2 5 1 2 3 1 1 4 2 8
3-1 2At5 A 20.0 40.0 40.0 8.9] 33.3 66. 7 5.2] 12.56 12.5 50.0 25.0 1.0
— M 1 2 2 2 6 4 3 1 1 1 10 6 5 3 1 1 16
3-1d Lod Yl 33.3 33.3 33.3 10.7] 40.0 30.0 10.0 10.0 10.0 17.2] 37.5 31.3 18.8 6.3 6.3 14.0
- - = j 4 1 5 1 11 3 3 3 1 10 7 4 8 2 21
3-2 Foehd 36.4 0.1 455 9.1 19.6] 30.0 30.0 30.0 10.0 17.2 33.3 19.0 38.1 9.5 18.4
_ ] 1 1 2 2 3 3
3-4 R & 100.0 1.8 100.0 3.4 100.0 2.6
4 Li=f=h#
d 1 1 1 1
S LomyE 100.0 1.7] 100.0 0.9
1 1 1 1 1 1 2
6 Ehehdl 100.0] 1.8 100.0 1.7 50.0 50.0| 1.8
= 2 1 3 1 1 2 3 2 5
L Listeidl 66.7 33.3 5.4] 50.0 50.0 3.4] 60.0 40.0 4.4
j 5 2 4 2 1 14 4 3 4 3 2 116 9 5 8 5 3130
8 Eo>oyH 35.7 14.3 286 143 1.1 25.0] 25.0 18.8 25.0 18.8 12.5{ 27.6| 30.0 16.7 26.7 16.7 10.0f 26.3
= j 1 1 4 5 {11 3 2 5 1 1 7 7 16
9 iETPmnE 9.1 9.1 364 455 19.6 60.0 40.0 8.6 6.3 6.3 43.8 43.8 14.0
] 2 1 4 2 1 1 4
10 Eo5YE 50.0 25.0 25.0 6.91 50.0 25.0 25.0 3.5
&8 13 10 16 8 56 18 14 12 9 5 58 31 24 28 17 14 114
HEE 232 179 286 143 161 1000 310 241 207 155 86 1000 272 211 246 149 123 1000
B A% (%) EF 1R
BRERE _ 2 1 T _ _ BRAE ]
BUARRE = fEf b hr K|S |lm WE ® BF & |BE| = PL P BT & | &
1 §R84F 6 3 7 2 18 6 5 3 2 16 12 g 10 4 34
123-217 33.3 16.7 389 111 32,11 37.5 31.3 18.8 12.5 27.6f 35.3 23.56 28.4 11.8 29.8
I £LOHEF 2 2 2 6 7 4 2 1 1 15 9 6 4 1 1 21
3-1d510 ) 33.3 33.3 33.3 10.7] 46.7 26.7 13.3 6.7 6.7 25.9] 42.9 28.6 19.0 48 4.8 18.4
I IFAERF 1 2 3 6 1 3 4 1 1 5 3 110
3-146 16.7 33.3 50.0 10.71 25.0 75.0 6.9] 10.0 10.0 50.0 30.0 8.8
N &oULF 3 5 6 6 5 4 3 4 6 4 121 9 6 9 12 10 | 46
. BY 20.0 120 20.0 240 240| 44.6] 19.0 14.3 19.0 286 19.0| 36.2| 19.6 13.0 19.6 26.1 21.7) 40.4
VHE R X 1 1 2 2 3 3
3-4 100.0 1.8 100.0 3.4 100.0 2.6
& 13 10 16 8 9 56 18 14 12 9 5 58 31 24 28 17 14 114
HE 232 179 286 143 161 1000 310 241 20.7 155 86 1000 272 211 246 148 123 100.0
8
— BF NI1=48
— &F N2=47 \
3 26k NI=2196 \w
60 L\
i . - . R1= 5.5(13.71) R1s 3.8(11.32) 1= 7.5(9.97) R 1= 9.3( 6.51)
10 2 ;= 12383:; z ]2= 328223 R ;= 4.2(14,0;) R 2= 5.2(10.03) 2= 5.8(10.04) RR g: 13,;& gig;
3 R 3= 10.5(13.08) R 3= 0.0(14.40) R 3= 3.3(12.95) R3= 5.1(9.78) 3= 6.5(9.39) e
24 3& ALE 54 65
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258AR - L ERDMIBEED R ERY (H82W) _
B AR(%) EFHHRIR
EREER BF _ ZF I EL et
AFEER 5 Bt F tF B 8| & PF B $BF K |SF| & Bt B BT K | SFH
42 j 2 1 4 2 1 1 4
1 BEZeAE 50.0 250 250 7.3} 50.0 250 25.0 3.5
2 —EeHrE
_ < 2 1 3 2 2 4 1 5
3-1 Eat s 66.7 33.3] 5.2 100.0 3.6 80.0 20.0] 4.4
- . ] 1 2 4 2 9 1 4 8 1 14 2 6 12 3 23
3-1d Co<UH 1.1 229 44.4 222 15.5] 7.1 286 51.1 1.1 25.5| 8.7 26.1 522 13.0 20. 4
- .= f 2 8 2 2 3 1 3 1 8 5 1 1 3 20
-2 droehdl 16.7 66.7 16.7 20.7| 37.5 12.5 31.5 12.5 14.5] 25.0 5.0 550 150 17.7
_ 1 1 1 3 1 1 1 3
-4 @ R I 33.3 33.3 33.3 5.5 33.3 33.3 333 2.7
. 1 i 1 1
4 Li=f=in &l 100.0 1.8} 100.0 0.9
5 Lomya
1 2 1 4 3 3 4 2 1 7
6 Ehenl 25.0 50.0 25.0] 6.9 100.0 5.5 57.1 28.6 143 6.2
- 1 1 2 1 1 2
1 Lizehdl 50.0 50.0 3.6 50.0 50.0 1.8
il 2 3 5 3 3 16 3 1 1 1 6 2 6 6 4 4 22
8 [EoouH 12.5 18.8 31.3 18.8 18.8] 27.6 50.0 16.7 16.7 16.7] 10.9] 9.1 27.3 27.3 182 182| 19.5
= g 3 5 3 1 12 1 2 1 4 8 4 5 5 2 4 | 20
’ e 25.0 41.7 250 B3 20.7] 12.5 250 12.5 50.0| 14.5] 20.0 26.0 250 10.0 20.0| 17.7
] 1 1 2 1 3 4 2 3 1 6
10 EobYH 50.0 50. 0 3.4] 25.0 75.0 7.3| 33.3 50.0 16.7 5.3
= 9 10 22 12 5 58 10 14 19 7 5 55 19 24 4 19 10 113
H_’,$ 155 17.2 379 207 846 1000 18.2 258 345 12.7 9.1 1000 16.8 21.2 36.3 16.8 88 100.0
B AS(%) EFEhER
AREERE __ BF 1 ZF _ Hi & _
HOUARE = mF b hFr K|S & PF b hF B [SH]| & HE b hT & | SFH
1 §¥4akBiG% 2 8 2 12 6 3 4 1 14 8 3 12 3 26
1.23-27 | 16.7 66.7 167 20.7] 42.9 21.4 286 11 25.5 30.8 11.5 46.2 1.5 23.0
I £LHEF 2 2 5 2 1 2 7 8 1 18 4 9 13 3 29
: 3-145.10 | 18.2 18.2 455 18.2 19.0] 11,1 38.9 444 5§ 32.7| 13.8 31.0 448 10.3 25.7
oI FAELFE 1 4 2 7 1 3 2 6 1 4 6 2 13
3-1.46 14.3 571 28.6] 12.1] 16.7 50.0 33.3 10.9] 1.7 30.8 46.2 15.4| 115
NV &-ULRF 8 8 4 3 | 28 1 3 3 2 5 14 6 1 1 6 8 |42
89 17.0 28.6 28.6 143 10.7| 48.30 7.1 21.4 21.4 143 357 255] 143 26.2 262 143 19.0| 372
vViE R & 1 1 1 3 1 1 1 3
3-4 33.3 33.3 33.3 5.5 33.3 33.3 33.3 2.7
&% ] 10 22 12 5 58 10 14 19 7 5 55 19 24 41 19 10 113
HEE  i55 172 378 207 86 1000 182 255 345 127 o1 1000 168 212 363 168 88 100D
80,
7d—ia¢ N1=45
— &7 No=44
----- 26k N3=2106
60
50
40;

30\

20
10 R 1= 11.0(17.38)

R 2= 11.8(11.12)
3 R 3= 10.5(13.03)

R 1
R 2=
R 3=

-3.3(16.70) R 1=
0.9(17.83) R 2=
0.0(14.40) R 3=

2.5(14.26)
3.9(11.53)
3.3(12.85)

R §.2( 8.31)
R2 5.1( 8.43)
R3 5.1( 9.79)

7.9(9.33) R 1= 9.0( 8.68)
9.1( 6.61) R 2= 10.2( 8.73)
6.5( 9.39) R 3= 8.7( 8.18)

14

24

34

4%

54

64
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25815 - R EMDHBEORERY (Ho2)

B AR (%) ST HEhiR
AR EF i ZF HESE
AEFEE = B F @ pr K|&Qi| = $F ® BF E[SF | & ®E B PT E | &5
MR 1 1 1 1
”1 Brend 100. 0 1.8 100.0 0.9
2 ZEPME
_ [ ] 1 2 3 1 1 2 2 3 5
1 EAsHd 3.3 66.7 5.4 50,0 50.0 3.6 40.0 600 4.5
a_ . 2 2 5 1 2 112 2 6 9 1 18 4 8 14 2 2 | 30
’”31" LodyH 16.7 16.7 4.7 83 16.71 21.4] 1.1 333 50.0 56 32.7] 13.3 26.7 46.7 6.7 6.7 210
e ;= g 3 4 7 2 6 8 5 10 15
2 mlend 4.9 811 12.5 25.0 75.0 14.5 33.3 66.7 13.5
_ = ] 2 2 1 5 1 1 2 3 1 6
,34 B R H 40,0 40.0 20.0 8.9 100. 0 1.8] 33.3 50.0 16.7 5.4
4 Lf=f=h8l
. 1 1 1 1
5 Lom o3 100, 0 1.8 100.0 0.9
1 1 2 1 1 1 2 3
6 ehend 50. 0 50.0 3.6 100. 0 1.8] 233 66.7 2.7
v ] 1 1 1 1 2 1 2 3
! Lazemnd 100.0 1.8| 50.0 50.0 3.6| 33.3 66.7 2.7
4 5 4 1 14 6 3 2 2 13 4 6 8 6 3 | 27
8 [Eo>2YH 28.6 35.7 28.6  1.1] 25.0 46.2 231 15.4 15.4] 23.6] 14.8 222 206 222 11| 24.3
% f 4 1 1 2 8 1 2 1 4 1 6 1 1 3 112
9 ETeni 50.0 12.5 12.5 25.0] 14.3| 25.0 50.0 25.0] 7.3 83 50.0 83 83 250 108
g 2 1 3 2 1 1 1 5 2 1 3 2 8
10 FobyH 66.7 33.3 5.4/ 40.0 2000 20.0 20.0 9.1 25.0 12.5 37.5 25.0 7.2
&% 10 9 21 1 5 56 6 18 22 6 3 55 16 27 43 17 8 11
ﬂ;i 179 16.1 375 19.6 8.9 100.0 109 32.7 400 109 55 100.0 144 243 38.7 15.3 7.2 1000
AR (%) T HEhR
aEREE 5F _ ZF _ HR S _
HUARE = BF m BF K | airle PL B FFr E|AH]® oL & T & | &5
1 $428%F 1 3 5 9 2 1 10 2 5 12 19
123-27 | 11.1 333 556 16.1] 10.0 20.0 70.0 18.2] 10.5 26.3 63.2 17.1
I FLOHAEF 2 2 7 2 2 115 4 8 10 2 24 6 10 17 4 2 139
3-1d510 | 13.3 13.3 46.7 13.3 13.3| 26.8| 16.7 333 417 83 43.6] 15.4 25.6 43.6 10.3 51 351
I IFAZHFE 1 1 3 5 1 2 3 1 2 5 8
3-14,6 20.0 20.0  60.0 8.9 3.3 66.7 5.5 12.5 25.0 62.5 7.2
V &E2URTE 4 4 6 5 3122 1 8 3 2 3 17 5 12 9 7 6 | 39
8.9 8.2 18.2 2.3 22.7 13.6| 30.3| 5.9 47.1 17.6 1.8 17.6/ 30.9| 12.8 30.8 23.1 17.9 154| 351
VHE B ¥ 2 2 1 5 1 1 2 3 1 6
3-4 40.0 40.0  20.0 8.9 100.0 1.8 33.3 50.0 6.7 5.4

& 10 9 21 N 5 56 6 18 22 6 3 5 16 27 43 17 8 1M
B%E 179 161 375 196 89 1000 109 327 400 109 55 1000 144 243 387 153 72 1000

— BF Ni=46
701 — %F ne=83

El 2k N3=2196

10; R 1= 2.7(13.48) R 1= 2.0(16.54) R 1= 4.6(13.85) R 1= 3.0(8.74) R 1= 6.1{ 8.76) R 1= 9.5( 8.57)

R 2= 7.9(11.14) R 2= -D.5(15.34) R 2= 4.3(12.61) R 2= 4.7( 8.49) R 2= B.0( 7.53) R 2= §.0( 6.88)

1 R 3= 10.5(13.03) R 3= 0.0(14.40) R 3= 3.3(12.85) R 3= 5.1(9.79) R 3= 6.5(9.39) R 3= 8.7( 8.18)
e
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258 - ER DB REEDORZFRFE (H102/) .
BB (%) E R
RERE 2 : £7 ST
AWER = Btk B $5F E IS5 FF &b FF K |RH|BE L F BT E |
2 s 2 2 2 2
! Brerd 100.0 3.5 100.0 1.7
- 1 1 1 1
2 cEehd 100,0 1.71.100.0 0.9
_ c 1 3 4 1 1 1 3 1 5
1 EAtEAI 25.0 75.0 7.0 100.0f  1.7] 20.0 60.0 20.0] 43
_ . i 5 3 1 10 2 5 9 2 18 2 6 14 5 1 28
3-1d Loyl 10.0 50.0 30.0 10.0| 17.5| 1.1 27.8 50.0 111 30.5| 7.1 21.4 500 1.9 3.6 241
— - = 2 6 2 2 12 1 2 6 3 9 2 2 |18
2 moehd 16,7 50.0 16.7 16.7| 21.1] 16.7 33.3 s0.0 10.2] 16.7 11.1 50.0 i1.1 1L1| 15.5
- =3 1 1 2 1 1 2 1 1 2 4
4w R H 50.0 500 3.5| 50.0 50.0 3.4| 25.0 25.0 50.0 3.4
4 Lizf=-H&
: 1 1 1 i
5 Lomyi 100, 0 1.8 100.0 0.9
6 Ehondl
: j 1 1 2 1 1 2 2 1 1 4
7 Laend 50.0 50.0 3.5| 50.0 50,0 3.4| 500 250 25.0 3.4
1 2 5 5 5 18 3 5 4 5 1 18 4 7 9 10 6 | 36
8 [Eo2yYH 56 11.1 2.8 27.8 27.8] 36| 16.7 27.8 22.2 27.8 5.6| 230.5| 11.1 19.4 25.0 27.8 16.7] 31.0
< 1 4 5 1 1 1 4 7 1 2 1 8 112
9 G 20.0 0.0l 8.8 14.3 143 143 5.1 119 8.3 16.7 83 667 103
j 1 1 3 1 4 3 1 1 5
10 gonsyd 100.0] 1.8] 75.0 25.0 6.8] 60.0 20.0 20.0] 4.3
&% 5 5 24. 10 13 57 12 14 19 8 6 59 17 19 43 18 19 116
H:% 88 8.8 421 17.5 228 100.0 20.3 237 32.2 136 10.2 1000 14.7 16.4 371 155 164 100.0
4 A2 (%0) & TR
RRERE 2 : EF _ BLai :
FEIARE 5 HBF B FF E|fH|E L & T E || B pt 7 PF K | EF
1 §4ba¥F 3 1 8 2 2 16 3 2 4 9 6 3 i2 2 2 |25
123-27 | 18.8 6.3 50.0 12.5 12.5] 28.1| 33.3 222 44.4 15.3| 240 120 48.0 80 80| 206
I FLHAF 1 6 3 2 12 5 6 9 2 22 5 7 15 5 2 | 34
3-14.5.10 8.3 50.0 250 16.7] 21.1| 22.7 27.3 40.9 9.1 37.3| 14.7 20.6 441 147 59| 29.3
oI IFAERF 1 3 4 1 1 1 3 1 5
3-146 | 25.0 75.0 7.0 100.0|  1.7{ 20.0 600 20.0{ 4.3
NV Eo>URF 1 2 6 5 9 23 3 6 5 6 5 25 4 8 11 11 14 | 48
] 8.9 43 87 261 21.7 3910 40.4| 12.0 24.0 20.0 240 20.0| 42.4| 8.3 16.7 229 229 292 414
ViE B # 1 1 2 1 1 2 1 1 2 4
3-4 50.0 50.0 3.5] 50.0 50.0 3.4] 25.0 25.0 50.0 3.4
=1 5 5 24 10 13 57 12 14 19 8 6 59 17 19 43 18 19 116
H_’,$ 8.8 838 421 175 228 1000 20.3 23.7 32.2 136 10.2 100.0 14.7 164 371 155 164 100.0
80;
1— BT =51
TO — =7 N2=a9
1 24k N3=2196
60
50
40!

10] ® = w0000
R 2= 13.7012.31)
1 R 10.5013.08)

R 1=
R 2=
R 3=

1.1(15.04)
4.2(13.64)
0.0{14.40)

]
W N -

2.4(10.49)
4.7(10.38)
3.3(12.95)

R 1= 2.4{ 9.89)
R 2= 4.6(7.33)
R 3= 5.1(8.79)

R 1= 7.2{( 7.80) R 1= 5.0(7.92)
R 2= 8.3( 8.56) R 2= B8.8(7.99)
R 3= 8.5(8.39) R 3= B.7(8.18)

14

2%

35

4%

5%

64
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258 R -2 ERADBRED R ERY (H112&K) )
B AR (%) S FNhiE
PRRE 57 - £F - CE TS A
ARER S5 BF d thF E (&I E oF & 57 B || & L T & [&FH
s g2 1 1 1 3 1 1 1 1 1 1 4
! BREOAME 33.3 33.3 33.3 5.2 100.0 1.8| 25.0 250 25.0 25.0 3.5
2 ZFEPHLE
. L 1 4 1 6 1 1 1 1 4 1 7
-1 EptomE 16.7 66.7 16.7 10.3 100. 0 18| 14.3 14.3 5.1 143 6.2
" . 1 3 3 7 2 4 9 1 16 3 7 12 1 23
3-td Lo<KYE 14.3 42.9 429 12.1] 12.5 25.0 56.3 6.3 20.1] 13.0 30.4 52.2 4.3 20.4
— - ] 1 3 2 2 8 1 4 1 6 2 7 3 2 14
-2 moehd 125 37.5 25.0 25.0 13.8] 16.7 66.7 16.7 100 14.3 50.0 21.4 [4.3 12.4
- e i 1 1 1 1 1 1 2
4 @ & OH 100.0 1.7 100. 0 1.8 50.0 50.0 1.8
4 Lf=f=hE
5 LonhuUH
2 1 3 1 1 2 2 4
6 EhehE 66.7 33.3 5.2 100.0 1.8 50.0 50.0 3.5
~ 2 2 2 2
! Laehd 100. 0 3.4 100.0 1.8
2 5 6 1 4 118 i 6 7 2 2 18 3 11 13 3 6 | 36
8 [Eoou R 1.1 278 333 56 202| 30l 56 333 389 1.1 1ni| 327 83 306 36.1 83 167 319
= 1 2 2 2 7 2 2 2 6 1 4 4 4 13
? LT el 14.3 8.6 28.6 28.6] 12.1 333 333 333 10.9] 1.7 308 30.8 30.8] 11.5
1 1 1 3 1 1 2 1 5 2 2 3 1 8
10 Eo5YH 33.3 333 33.3 5.2] 20,0 20.0 40.0 20.0 9.1] 25.0 250 3.5 12.5 7.1
&F 9 15 17 10 7 58 5 16 22 8 4 55 14 31 39 18 11 113
l:t$ 155 25.9 29.3 17.2 121 100.0 9.1 29.1 400 14.5 73 100.0 124 274 345 15.9 9.7 100.0
B4 A2 (%) LT i
FRERE] 57 B < ; : CETS 0 :
U AR = PF & T E|SFt|E Bk o FF K (SHIE Pt f BT E | EF
I $484F 2 6 3 2 13 1 4 1 1 7 3 10 4 3 20
12327 | 15.4 462 231 15.4 2.4 143 571 143 14.3 12.7] 15.0 50.0 20.0 15.0 17.7
I £L&TF 2 4 4 10 3 5 1 2 21 5 9 15 2 31
3-1d510 | 20.0 40.0 40.0 17.2] 14.3 23.8 52.4 9.5 38.2| 16.1 20.0 48.4 6.5 27.4
m FAZEWF 1 2 5 1 9 1 1 2 1 3 6 1 11
3-146 | 11.1 2.2 856 (1.1] 155 50.0 50.0 3.6] 9.1 27.3 545 91| 9.1
NV &2U%F 3 5 8 3 6 125 i 6 9 4 4 | 24 4 11 17 7 10 | 49
8.9 120 20.0 32.0 12.0 240 431 42 250 37.5 16.7 167 43.6| 8.2 22.4 347 143 204 434
VE R R 1 1 1 1 1 1 2
3-4 100.0 1.7 100.0 1.8 50.0 50.0 1.8
& 9 15 17 10 7 58 5 16 22 8 4 55 14 31 39 18 11 113
kt$ 155 25.9 293 17.2 121 1000 9.1 291 40.0 145 73 100.0 124 274 345 15.9 9.7 100.0
80,
31— BF NI=35
—— #F N2=46
70_ """ 24k N3=2196 M
60 \
* L\ﬁ«o’ \WVN\P%W

R 1=
R 2=

8.5(15.14)
8.2(15.20)
R 3= 10.5(13.03)

R 1= -2.5{17.08)
R 2= 5.5(12.62)
R 3= 0.0(14.40)

= 1.001.21)
4.7(12.21)
3.3(12.95)

R 1= 6.2(10.37)
R 2= 7.1{8.00)
R 3= 5.1(9.79)

R 1=
R 2=
R 3=

7.0(10.00) R 1= 8.6( 7.55)
6.3( 7.90) R2- 9.5( 8.50)
6.5( 9.39) R3= 8.7(8.1g)

T T e

14

2%

3%

2%

54 65



&r 81
2584 -2 EMDAEEDRERY (H1228%)
B AH (%) Y EER
S ERE BF T TF T BL5E _
AFER 5 mE & dF K |Gl 8 dht dh hF E (S| &®m $L B FFT B | EFH
32 2 2 1 i 3 3
! BREYNE 100, 0 3.4 100, 0 1.8 100, 0 2.6
= 1 1 1 1
2 CEPHE 100. 0 1.7 100.0 0.9
- & 2 1 1 4 2 2 2 3 1 6
1 EALAE 50.0 25.0 25.0] 6.9 100.0 3.5 33.3 50.0 167 5.2
_ . 2 1 5 2 10 1 4 6 4 15 3 5 1 6 25
3-1d Lo<yH 20.0 10.0 50.0 20.0 17.2] 6.7 26.7 40.0 26.7 2%6.3] 12.0 20.0 44.0 24.0 217
- - 2 1 1 4 1 3 3 3 10 3 4 4 14
-2 mIemE 50.0 25.0 25.0 6.9l 10.0 30.0 30.0 30.0 17.6] 21.4 28.6 28.6 21.4 12.2
_ = 1 1 1 3 1 1 1 1 2 4
4 @ R OH 33.3 33.3 33.3 5.2 100.0 1.8 25.0 25.0 50.0 3.5
4 Lizfomil
1 1 1 i 1 1 2
3 Loy & 100.0 1.7 100. 0 1.8 50.0 50.0 1.7
1 1 i 1 1 1 2
6 eheni 100.0 1.7 100. 0 1.8 50.0 50,0 1.7
- 3 1 1 5 2 2 3 3 1 1
! Lazend 60.0 20.0 20.0 8.6 100.0 3.5| 429 429 14.3 6.1
2 2 4 1 2 11 1 5 6 2 1 15 3 7 10 3 3 | 26
8 [E>2 Y& 18.2 18.2 36.4 9.1 18.2| 19.0] 67 33.3 40.0 133 6.7] 263| 11.5 26.9 38.5 115 11.5| 226
< 1 1 3 6 5 16 2 2 1 5 1 3 3 8 6 | 21
? ikTeni 6.3 6.3 18.8 3.5 31.3| 276 40.0 40,0 20.0| e8| 48 143 143 381 28.6| 183
1 1 2 4 1 1 2 4
10 Fob YA 25.0 25.0 50.0 7.0] 25.0 25.0 50.0 3.5
&8 12 10 16 12 8 58 4 19 16 16 2 57 16 29 32 28 10 115
ﬂ_’,$ 20.7 17.2 276 20.7 138 100.0 7.0 333 28.1 28.1 35 100.0 13.9 25.2 278 243 8.7 100.0
A B(%) EFIgEhR
R BF ] BF _ EE i _
LN T m PE b ofF E[SHIE dL b PFT K (8IS L p T B |EF
1 THBGT 5 5 2 2 [ 16 3 3 13 | 6 11 5 3 25
123-27 | 41.7 41.7 16.7 20.7] 7.7 46.2 23.1 23.1 22.8| 24.0 44.0 200 12.0 21.7
T ECHHE 3 sy 172776 e e 20 |75 77 s 3
3-1d510 1 27.3 9.1 45.5 18.2 19.0] 10.0 30.0 30,0 30.0 35.1| 16.1 22.6 35.5 258 27.0
m IFAEREF 2 2 1 5 1 2 3 3 4 1 8
3-1.46 40,0 40.0 20.0] 8.6 33.3 6.7 5.3 3.5 50.0 12.5] 1.0
N ESTGRE R R B B 7 A I N L B S I R T
] 8.9 L1 1.1 259 259 25.9| 46.6] 50 350 30.0 20.0 10.0| 35.1| B.5 20.3 27.7 23.4 19.1] 40.9
veE B B 1 1 1 3 1 1 1 1 2 4
3-4 33.3 33.3 33.3 5.2 100.0 1.8} 25.0 25.0 50.0 3.5
&8 12 10 16 12 8 58 4 19 16 16 2 57 16 29 32 28 10 115
]:t$ 20.7 17.2 276 20.7 13.8 100.0 10 333 281 28.1 35 100.0 13.9 25.2 27.8 243 8.7 100.0
80,
1— mF Ni=sg
70— =7 ne=s6
----- S0k N3=2196
60
501
40

RI0:AN
20:
10 R 1=  9.5(11.85)
R 2= 12.6(11.77)
3 R 3= 10.5(13.03)

o o

1= -4.5(18.45) R 1= 4.1(13.21) R 1=
2= -2.2(11.78) R 2= 6.1(9.94) R 2=
3= 0.0(14.40) R 3= 3.3(12.95) R 3=

5.3(11.80)
4.7( 7.93)
5.1(9.79)

4.7( 8.79) R 1= 7.4(8.24)
2.6(11.02) R 2= 4.6(14.37)
6.5( 8.39) R 3= 8.7( B.16)

145

24

3E

44
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255 - EMDHBEORERE (H13£4K)
B A (%) EFHEhiR
B EEE HF [ ZF Hx &t i
AEEE & ®mF h br E|EH|[E BF & oF B[S & &St B BF E [ &
3 g 1 1 3 2 1 6 3 3 1 7
”1 Bresnil 100.0 1.1 50.0 33.3 16.7 10.2 42.9 429 14.3 5.9
2 ZFEONE
_ S j 1 1 2 1 2 1 4 2 3 1 6
1 EAsNE 50.0 500 3.4 25.0 50.0 25.0 6.8 33.3 50.0 16.7 5. |
_ . 1 2 3 6 2 13 1 5 5 11 3 8 1N 2 24
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_ 3 g 1 2 5 6 4 18 2 2 6 5 15 3 4 11 11 4 |33
-1 EASAE 56 111 27.8 33.3 22.2| 6.4| 13.3 13.3 40.0 333 5.4 91 121 333 333 121] 59
- . j 6 15 16 7 2 | 46 1 15 29 8 2 65 17 30 45 15 4 1N
3-1d Lo<yH 12.0 32.6 348 152 43| 16.3 169 231 4406 123 a1l 233| 153 27.0 405 135 36| 198
- - j 12 7 21 5 51 9 9 21 4 1 44 21 16 48 9 1 95
82 7xehil 23.5 13.7 52.9 9.8 18.1] 205 20.5 47.7 9.1 23| 158] 22.1 168 5.5 95 11| 169
_ | 2 1 2 2 7 3 4 2 1 10 2 4 6 4 1 17
4 @ R I 28.6 14.3 28.6 28.§ 2.5 30.0 400 200 i0.0] 3.6l 118 23.5 353 235 59| 39
4 j 1 1 1 1
4 Lizfzindd 100. 0 0.4] 100.0 0.2
| 1 1 1 3 1 1 1 3
5 Lomy&E 33.3 33.3 33.3 i.1] 33.3 33.3 33.3 0.5
] 1 1 4 2 8 4 1 5 1 5 5 2 113
6 ehehil 12.5 12.6 50.0 25.0| 28 80.0 20.0 1.8] 1.7 38.5 38.6 15.4] 2.3
- i 7 3 2 12 4 3 2 9 11 6 4 21
! Lzl 58.3 25.0 16.] 4.3] 4.4 33.3 22.2 3.2| 52.4 286 19.0 3.7
| 13 N 21 14 8 67 6 16 19 9 6 | 56 19 27 40 23 14 123
8 [Eo>D YA 19.4 16.4 31.3 209 11.9| 23.8] 10.7 28.6 339 16.1 10.7| 20.1] 154 220 325 187 1141 21.9
= 5 15 8 12 15 | 55 4 4 4 7 11 30 9 19 12 19 26 | 85
9 fETeni 9.1 27.3 145 21.8 273 19.5] 13.3 13.3 13.3 23.3 36.7| 10.8) 10.6 22.4 141 224 30.6| 152
] 1 5 1 7 9 12 7 1 29 10 12 12 2 36
10 FobYE 14.3 71.4 14.3 2.5| 31.0 41.4 241 3.4 10.4} 27.8 33.3 33.3 56 6.4
&8 50 56 90 53 33 282 529 67 99 40 21 279 102 123 183 93 54 561
HE 177 199 319 188 117 1000 186 240 355 143 75 1000 182 219 337 166 96 1000
B A (%) LT AR
ERERE HF _ Ea i Ha ST _
HUELAREE = L B mr B |Sf| & BF @& hF E (S5 & BfFE & T E | &
I R85 F 21 12 32 7 2 174 18 14 26 6 1 65 39 26 58 13 3 [139
123-27 | 28.4 162 432 95 27| 262 277 215 400 92 1.5 233l 281 187 417 9.4 22| 248
I FLOHAEF 7 15 21 8 2 {53 21 28 36 10 2 97 28 43 51 18 4 1150
214510 | 13.2 28.3 30.6 5.1 3.8 18.8| 21.6 289 371 10.3 21i 348 187 287 380 120 27| 261
I FAZLF 2 2 6 10 6 | 26 3 2 10 6 21 5 4 16 16 6 | 47
3-146 7.7 7.7 23.1 38.5 23.1) 9.2l 143 9.5 476 986 7.5| 10.6 8.5 34.0 34.0 12.8] 8.4
NV &2URF 18 26 29 26 23 122 10 20 23 16 17 86 28 46 52 42 40 |208
3 8.9 148 21.3 23.8 21.3 18.9] 43.3] 1.6 23.3 26.7 18.6 19.8 30.8] 135 221 250 20.2 19.2| 371
VHE R # 2 1 2 2 7 3 4 2 1 10 2 4 6 4 1 17
3-4 28.6 14.3 28.6 28.6 2.5 30.0 40.0 200 10.0] 3.6 11.8 23.5 353 235 59l 3.0
&K 50 56 9 53 33 282 52 67 99 40 2t 279 102 123 189 93 54 561
H:$ 17.7 19.9 318 188 11.7 100.0 18.6 240 355 14.3 15 100.0 182 21.9 33.7 16.6 926 100.0
80;
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TJO - 2tk N2=2196
60
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40
20 RN e
10 R 1= 10.1(13.08) R 1= 0.2014.33) R 1= 3.8(12.56) R 1= 4.8{ 8.75) R 1= B6.8( 8.88) R 1= 9.0( 7.83)
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B AR (%) SRR
AMERE BF ZF EES i
ARER Z BF © Br B &l 5 BE & Pr K|S | & $E B BT |5
! BrEend h5 S5 5 5 w0 2o 20 S0l Ls as s is Y
2 cEeAd 10,0 "o.a]iobo sl mo s 04
s EAsnE Be s s s sl e 05 ms a5 mel Sal 3y T 00 e ol Yo
sta Cocym |1 10 e o L3 sl Jho 4 8o iho 2s| e
e P A LY Y A R O TR Y Y
4 @R H so s mo 153 ol hs e o8 s 88| 20 s00 w0 200 A
4 Lifind B0 @0 iz 50 5.0 2s
5 Lomdd B3 3 @3 ol wo o 2o S| Ao sao 2o e
6 shendl s B9 9 iy om0 2ol e S see il g
’ Lz bmnd Bs 85 4 "ol s s 20 S ol oo b6 1o Y
s mooym | 820 a1 W T A e 2e sl e 35 S s il g
o mwess | S8 B WIS [ 0 e Ml ol 65 100 20 Sis S0l iss
10 EobUE 2y 5y e ng il Masl s B1 51 a4 2o B me Ro ks 3al Ve

&8 45 57 84 65 40 291 41 83 102 44 20 290 86 140 186 109 60 581
HE 155 196 289 223 137 1000 141 286 352 152 69 1000 148 241 320 188 103 1000

B A (%) LT S
CE

BRERE] _ BT ] T T ]
AR E BE & &7 [ [Ai| B FF $ BT B |[AH|® BF ® or | &6
I $4B8GF 16 15 16 8 4 |59 8§ 20 17 5 1 151 24 3 33 13 5 [110

123-217 27.1 25.4 27.1 13.6 6.8 20.3] 15.7 39.2 333 9.8 20 17.6] 21.8 31.8 30.0 11.8 4.5 18.9
I FLHUEF 10 13 24 10 3 | 60 21 31 40 13 1 1106 31 4 64 23 4 {166

3-1d5.10 ) 16.7 21.7 40.0 16.7 50! 20.61 19.8 29.2 37.7 123 0.9] 36.6 18.7 26.5 38.6 13.9 2.4 28.6
I FAERF 3 2 N 9 3128 1 5 4 2 112 3 3 16 13 5 | 40

3-1.46 10.7 7.1 39.3 32.1 10.7 9.6 8.3 41.7 33.3 16.7 41 7.5 1.5 40.0 325 12.§ 6.9
N &E2URF 13 23 30 36 30 (132 11 28 37 20 16 (113 24 52 67 56 46 {245

y 8.9 9.8 17.4 22.7 27.3 2270 45.4| 9.7 25.7 32.7 11.7 14.2| 39.0| 9.8 21.2 27.3 229 18.8] 42.2
VE R # 3 4 3 2 12 1 2 3 2 8 4 6 6 4 20

3-4 25.0 33.3 25.0 16.7 4.1] 12.5 26.0 37.5 25.0 2.8] 20.0 30.0 30.0 20.0 3.4

&8 45 57 84 65 40 291 41 83 102 44 20 290 86 140 186 103 60 581
HEE 155 196 288 223 137 1000 141 286 352 152 63 1000 148 241 320 188 103 1000
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BEPEME. FENDHIBREORERE (F18 24)
B A (%) EEHihig
pRERE _ FREDGSRH _ | FXBIR | EHESR )
AFEE m_ Bt HFE S |& dtdh oSTE 8|8 FEtd pTFTIE |&FH
g2 ) 1 1 T 4 3 3
1 (3 rend 100.0 5.3] 25.0 25.0 50.0 6.7 100.0 3;‘g
2 ZFELHE
_ CL AnE 1 1 1 2 3 273 7 3 7
3-1 A5 A 100.0 5.3 33.3 66.7 5.0] 200 30.0 10.0 30.0 10.0 |3_‘g
- . } 1 2 3 2 3 5 3 13 2 4 1 2 1 {16
3-1d Lo<YH 33.3 66.7 15.8] 15,4 23.1 385 23.1 21.7]1 12.5 25.0 43.8 12.5 6.3 20.’5’
_ - y 1T 2 3 2 5 7 14 3 3 5 3 14
3-2 TS end 33.3 66.7 16.8] 14.3 35.7 50.0 23.31 21.4 21.4 357 21.4 18.2
_ 1 1 2 2 1 3 T 1 1 3
3-4 ® R H 50.0 50.0 10.5 66.7 33.3 5.0 33.3 33.3 33.3 3.8
o ] 2 2
4 Li=f=-mll 100.0 3.3
y 2 2 2 1 1 4 1 1
5 Lomy & 100.0 10.5] 50.0 25.0 25.0 6.7 100.0 I.S
] 1 1 2
6 Shoendd 50.0 50.0] 2.6
- g 1T 2 21 1 4 1 1
7 Lz 33.3 66.7 15.8] 650.0 25.0 25.0 6.7 100.0 1.3
) 1 1 2 5 1 25 1 1 15
8 [E> YWE 50.0 50.0 10.5] 25.0 62.5 12.5 13.3] 13.3 33.3 46.7 6.7 19.5
. ) 1 1 1T 2 114 1 T 1 1] 4
9 [ETend 100.0 53 25.0 50.0 25.0 6.7 25.0 25.0 25.0 25.0 52
e 1 1 1 i 2 5 1 8
10 EobYH 100.0 5.3 100.0 1.71 25.0 62.5 12.5 10.4
&5 4 9 6 19 11 14 27 7 1 60 13 17 31 12 4 711
H;% 211 474 316 100.0 183 233 450 11.7 1.7 100.0 16.9 221 40.3 156 52 100.0
B A (%) EFgHhER
BAREE  PIEHBEFR _ | FRESFR | EEESRE _
HEARE m B HFTE B dbd $FE |€H |5 $Etd $FE [&F
I $REHF 1t 3 3 7 5 7 10 22 3 3 9 3 18
1.2.3-2.7 14.3 42.9 42.9 36.8] 22.7 31.8 455 36.7| 16.7 16.7 50.0 16.7 23.4
I #£CoHhF 1T 3 2 6 4 4 7 3 18 4 s 12 3 1|25
3-1d,5,10 16.7 50.0 33.3 31.6] 22.2 22.2 38.9 16.7 30.0] 16.0 20.0 48.0 12.0 4.0 32.5
W FAEREF 1 1 14 5 2 3 1t 4 2112
3-1.4.6 100.0 5.3 20.0 80.0 8.3 16.7 20.0 8.3 33.3 16.7 15.6
NV ESURF 21 3 2 6 3 1 |12 35 8 2 1119
89 66.7 33.3 15.8] 16.7 50.0 25.0 8.3 20.01 15.8 26.3 42.1 10.5 5.3 24.7
VE B B 11 2 2 1 3 1T 1 1 3
3-4 50.0 50.0 10.5 66. 7 33.3 5.0f 33.3 33.3 33.3 3.8
&% 4 9 6 19 11 14 27 7 1 60 13 17 31 12 4 77
]:ti 211 474 316 1000 183 233 450 117 1.7 100.0 169 221 403 156 52 100.0
80, — 2xzwEs v-s
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70 2k N=2196
60
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40 M
20
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B2 AR (%) EEighR
FARERE]  FRXEDESR ZFEBSR _ BHESE _
AEHEER ®m Wrcd fFE |t |5 Bwrm STE |t |H Hr T E |&F
it 1 1 1 1 1 1 2 3
”1 srend 100, 0 3.7 100, 0 2.0| 23.3 66.7] 5.3
2 SEOHME
_ . 7 3 (I A
-1 EAteAE 66.7 33.3 5.9 75.0 26.0 1.0
- - ] 2 3 2 7 2 6 5 1 14 2 5 5 1 2 15
$-1d Lo<CYE 28.6 42.9 28.6 250 143 429 3657 1.1 27.5 13.3 33.3 33.3 6.7 13.3| 26.3
_ - = ] 3 2 4 1 5 1 1 7 2 4 2 15
-2 end 60.0 40,0 18.5| 36.4 9.1 45.5 9.1 21.6| 46.7 13.3 26.7 13.3 26.3
_ = gy 1 1 1 1
-4 @ ® A 100.0 3.7 100.0 1.8
e ] i 1
4 Lfh 100.0] 2.0
1 1 1 1
5 Lomya 100.0 3.7 100.0 1.8
1 1 1 2
6 shondl 100, 0 3.7] 50.0 50.0 3.9
- ] 1 1 2 3 3 2 1 3
J Lenil 50.0 50.0 7.4] 100.0 5.9 66.7 33.3 5.3
y 2 1 2 1 6 3 4 4 1 1 13 1 2 6 1 10
8 ooy H 33.3 16,7 33.3 16.] 22.2| 23.1 308 30.8 7.7 7.7 255 10.0 200 60.0 10.0 17.5
9 FR YY) o1 1 i 11{3 1772 1| 4
50.0 50.0 1.4] 33.3 333 33.3] 5.9 25.0 50.0 250 7.0
1 1 1 1
10 go5YH 100.0 3.1 100.0 1.8
25 10 9 7 1 27 16 12 15 5 3 51 13 11 21 7 5 57
}_‘t$ 370 333 259 3.7 100.0 314 235 294 9.8 59 100.0 228 18.3 36.8 12.3 8.8 100.0
53 ASE (%) EFHHER
BARKRE] _ FXEDHEZR | FXBER | EBESR _
B AR = mrmh BrE |G lm $rt® PrE |8 |s st $TFE |&F
I §48EF 4 2 2 8 7 1 5 2 15 8 4 5 2 2 21
123-27 | 500 25.0 25.0 29.6| 46.7 6.7 33.3 13.3 29.4| 38.1 190 228 9.5 9.5 368
I FLOHLEF 3 4 2 9 2 6 5 1 14 3 5 6 1 2 17
3-14510 | 33.3 44.4 22.2 33.3| 143 429 3.7 11 27.5] 17.6 20.4 353 59 il.8| 29.8
Im IFAZEF 1 1 3 1 1 6 3 1 4
3146 100,0 37| 50.0 16.7 16.7 16.7| 11.8 75.0 25.0 7.0
NV & UL+ 3 2 2 1 8 4 4 4 2 2 116 1 2 7 3 1 14
8.9 375 25.0 25.0 12.5 20.6| 250 260 250 125 125 31.4] 7.1 143 0.0 21.4 71| 2.6
VE B # 1 1 1 1
3-4 100.0 3.7 100.0 1.8
&% 10 9 7 1 27 16 12 15 5 3 51 13 11 21 7 5 57
ﬂ:$ 37.0 33.3 259 3.7 100.0 34 235 294 2] 58 100.0 228 193 368 12.3 88 100.0
80 — zxanEs m=
1 22 EEHR N2=43
— EHEEE Na=48
70 - 2t M=2196
60
1
50

3 R1= 14.4(9.38) R1= 3.7( 9.8) R
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B AR (%) SEHHE
TAERE|  TESHERE [ =EEER 1 smEak
AWEE & st HFE g B $Etd T E [ & HEtd HTE &3
s 1 1 2 3 3
1 Bsrend 0.0 50.0 [y 100. 0 5.5
2 CEPHNE
_ = 1 1 1T 1 2 2 2 4
-1 EALSAE 100.0 1.1 50.0 500 3.6 50.0 50.0 14
— . j 1 1 2 2 1 5 1 2 6 2 11
3-1d Lo<KYE 1000 11.1] 40.0 40.0 20.0 01| 9.1 182 545 18.2 2.4
_ - = ] 1 1 5 2 4 3 1 15 2 3 3 2 10
32 aoehdl 100.0 1.1 333 13.3 26.7 200 6.7 27.3] 200 30.0 30.0 20.0 18.5
- = 2 1 1 4 2 1 1 4
4 @ wmE 50.0 25.0 25.0 7.3| 500 25.0 250 1.4
4 Lf=f-hh#
2 2 1 1
5 LomyH 100.0 3.6 100.0 1.9
g 1 1 1 1
6 sheni 100.0 .8 100.0 1.9
N J 3 3 1 1
! Lagemnd 100.0 5.5 100.0 1.9
AE.1] 2 2 4 5 2 1 3 1 12 3 10 3 16
8 [E>2YH 50.0 50.0 4.4l 417 167 83 250 83l 218 18.8 625 18.8 20.6
< j 1 2 3 6 1 3 4
? [ETehd 16.7 333 50.0 10.9 25.0 75.0 7.4
] 1 1 2 1 1 2
10 gobYH 50.0  50.0 3.6 50.0 50.0 3.7
¥ 3 3 3 9 22 9 13 9 2 55 8 19 15 12 54
H:$ 333 333 333 1000 400 164 236 16.4 36 100.0 148 352 278 222 1000
A (%) S FISEhE
BRERE|  SERDEER | | ZEEER 1 wenEER :
HEARE 5 mtg oTE [ |8 Pt HFE |G |& FEtd T E (&
1 ¥4BL%F 1 1 1 3 8 2 7 3 1 21 2 4 3 2 1
123-27 | 33.3 33.3 33.3 33.3| 38.1 9.5 33.3 143 48 38.2| 182 364 27.3 182 20. 4
I FLHEF 1 1 5 3 1 9 1 3 6 4 14
314,540 | 100.0 1.1 65.6 33.3 111 16.4| 7.1 21.4 42.9 286 25.9
m IFAZEHF 1 1 1 1 1 3 2 3 5
3-146  |100.0 1.1] 33.3 33.3 33.3 5.5 400 60.0 9.3
V E2UEF 2 2 4 6 2 3 6 i 18 3 11 3 3 20
T 89 50.0 50,0 4440 333 101 167 333 56| 327 150 55.0 15.0 15.0 37.0
VHE R & 2 1 1 4 2 1 1 4
3-4 50.0 25.0 25.0 7.3| 50.0 25.0 25.0 1.4
&5 3 3 3 9 22 9 13 9 2 55 8 19 15 12 54
bt% 333 333 333 100.0 400 16.4 236 16.4 36 100.0 148 35.2 278 22.2 100.0

80, — zxaEnEs M=

1 EREER N2=43
— BEEER N3=44
70; ----- 24 N4=2196
]
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40;
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R1= 7.3(16.03) R 1= 4.6(12.26) R 1= 3.8(7.72) R 1= 11.1( 5.49) R1= 0.7(9.92) R 1= 11.3( 6.99)
R 2= 12.4(12.48) R 2= 1.3{(12.67) R 2= 4.0(10.76) R 2= 6.8(10.40) R 2= 7.6( 8.0 R 2= 8.1{ 6.30)
10, R 3= 13.3(12.80) R 3= -1.7(14.03) R 3= 4.1(11.58) R 3= 6.7( 7.80) R 3= 8.6(10.42) R 3= 11.4( 6.33)
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EEFERE. REANDMBEDORERYE (B4 £64)
SR AR (%) L EghiR
ERRRE_ rRenEER FEERR | ERRER -
AMRER mr s ST |8 | st $TFHE & [ Bdrbto o$TFE |SF
s s 2 2 2 1 3 1 1 2
1 Sresd 100.0 14.3 66.7 33.3 4.4 50.0 50.0 3.0
- - 1 1 2
i 2 cEeAd 50,0 50,0 2.9
_ < 5 1 1 2
1 EABAHE 50.0 50.0 3.0
- . 1 1 2 2 5 2 1 1 7 4 3 2 117
3-1d Lo<YH 50.0 50.0 14.3] 18.2 18.2 455 18.2 16.2) 5.9 41.2 23.5 17.6 11.8] 25.8
- .= 2 1 3 2 1 8 1 12 1 2 4 7
3-2 g oem il 66.7 33.3 21.4] 16.7 8.3 66.7 83 17.6] 14.3 28.6 5].1 10.6
— 1 1 1 1 2 2
3-4 B R H 100. 0 7.11100.0 1.5 100.0 3.0
. £ AT 1 1
4 Li=t=t& 100.0 1.5
5 Lomvy#
f 1 1 1 1
6 Ehendl 100.0 1.5 100. 0 1.5
i y 1 1 2 2 2 6 1 1 2
7 Luendl 100.0 7.1] 33.3 33.3 33.3 8.8] 50.0 50.0 3.0
) 2 2 3 5 4 5 17 4 2 3 1 1 11
8 EoD Y E 100.0 14.3] 17.6 20.4 23.5 29.4 25.01 36.4 18.2 27.3 9.1 9.1 16.7
S ) 1 1 1 2 1 4 8 3 6 4 3 2 |18
o LT enE 100.0 7.11 12.5 25.0 12.5 50.0 11.8] 16.7 33.3 222 16.7 11.1 27.3
1 1 1 2 4 1 1 6 3 1 4
10 EobYH 50.0 50.0 14.3] 66.7 16.7 16.17 8.8] 75.0 25.0 6.1
&E 7 4 3 14 16 16 22 10 4 68 14 19 20 7 6 66
ﬂ;$ 500 286 214 1000 235 235 324 147 59 1000 212 288 303 106 9.1 100.0
B AR (%) EF iR
HARREl  FREDEZER _|_ FRBFR | EBERER _
HEARE B HEtf oFE 8 [& $rEted GFE |8 |m HEd $FE [H&
1 §¥a8E+ 5 1 6 4 3 23 2 4 4 1 1
12.3-27 83.3 16.7 42.9] 17.4 26.1 43.5 13.0 33.8] 18.2 36.4 36.4 9.1 16.7
I FLHEF 1 1 2 4 6 3 2 17 4 7 5 3 2 |1 2
3-14.510 ] 25.0 25.0 50.0 28.6] 35.3 17.6 35.3 11.8 25.01 19.0 33.3 23.8 143 9.5 31.8
I FASHF 1 1 2 1 2 3
3146 50.0 50.0 2.9} 33.3 66.7 4.5
WV &E-UGF 1 2 3 7 5 4 |25 7 8 7 4 3129
89 33.3 66.7 21.4] 16.0 28.0 20.0 20.0 16.0 36.8] 24.1 27.6 241 13.8 10.3 43.9
VHE R B 1 1 1 1 2 2
3-4 100.0 7.1] 100.0 1.5 100.0 3.0
&% 7 4 3 14 16 16 22 10 4 68 14 19 20 7 6 66
H;$ 500 286 214 1000 235 236 324 147 59 1000 212 288 303 10.6 9.1 100.0
80, — zxEmES N=12
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— EREFER N3=54
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60!
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40E V\/\W -
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10 R 3= 11.4(13.80) R 3= 1.2(13.80) R 3= 6.3(12.15) R 3= 8.0(10.58) R 3 8.5(8.11) R 3= 8.4(9.32)
3 R 4= 10.5(13.03) R 4= 0.0(14.40) R 4= 3.3(12.95) R 4= 5.1(0.79) R 4=  6.5(9.39) R 4= 8.7( B.16)
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EERERE. PEIDHBEDORZEFY (858 2K
I AL (%) EFE
SRR FEEBHESR 2ZXEZR - EBHEFR
ABER m_Bhtd oFE HlE SEdh T E BHlE wrtd T E [SF
1 BEOHE
- 1 o
2 SEPHE 100.0 1.9 )
_ = 1 1 1 1 2| 57
1 BHSAR 100.0 200 20.0 20.0 40.0| 83
_ . y 11 3 3 6 3 4 2 g
3-1d Lo< YR 50.0 50.0 25.0 25.0 50.0 22.6 33.3 4.4 22.2 15.8
_ i q 2 1 1 1 3 2 3 4 1 1 1 7
-2 mTeid 40.0 20.0 20.0 20.0 37.5 250 31.5 15.1] 671 143 143 14.3 12.3
_ 1 1 2 2 1 1 6
3-4 B’ X 100.0 100.0 1.8] 33.3 33.3 16.7 16.17 10.5
o 4 1
4 Lizfe il 100.0 1.9
5 Loy
| 1 1 1 1
6 EhPeHE 650.0 50.0 3.8 100.0 1.8
- ) 1 1 1 1 1 2
! Laehd 33.3 33.3 333 5.7 50.0 50.0 3.5
| 2 1 2 6 3 3 2 4 5 4 2 |17
8 E>oYH 66.7 33.3 13.3 40.0 20.0 20.0 28.3] 11.8 23.5 204 23.65 11.8 29.8
< ] 3 i 2 4 2 8
9 ETenE 60.0 20.0 9.4 25.0 50.0 25.0 14.0
] 2 2 1 1 1 2
10 gobyd 40.0 40.0 20.0 9.4] 50.0 50.0 3.5
4 4 3 1 13 12 20 6 11 13 14 13 6 57
333 333 250 83 245 226 377 113 1000 193 228 248 228 10.5 1000
U AR (%) EFEHiE
HEMEREE EEEHESR _ EEEZR 1 EHESRE _
BUARE m PhEtd pFE SH|E HE$d ohFTE G E bt T {E &
I ¥4b8585+F 2 1 1 1 5 5 3 4 2 4 2 2 1 9
1.23-27 | 40.0 20.0 200 20.0 4.7 41.7 250 333 22.6) 44.4 222 222 1.1 15.8
I FLHAEF 1 1 2 5 3 8 1 1 4 4 2 1
3-1d45,10 50.0 50.0 16.71 20.4 17.6 47.1 5.9 32.1 9.1 36.4 36.4 18.2 19.3
O FAZEF 1 1 2 1 1 2 1 2 §
3-1.46 100.0 8.3 66.7 33.3 5.7 16.7 33.3 16.7 33.3 10.5
WV &2 UVRF 2 1 3 2 6 6 4 0 4 5 8 4 125
B9 66.7 33.3 25.0] 10.0 30.0 30.0 20.0 37.7 16.0 16.0 20.0 32.0 16.0] 43.9
VE R # 1 1 1 2 2 1 1 6
3-4 100.0 8.3] 100.0 1.9] 33.3 33.3 16.7 16.7 10.5
4 4 3 1 13 12 20 6 11 13 14 13 6 57
333 333 250 83 245 2286 377 113 1000 193 228 246 228 105 100.0
80, — exanEs i
J—exmEr N=39
— EREER N3=45
70 """" 2k N4=2196

30
20;
104

40 St
e

R 1= 14.3(18.32)
R 2= 8.5(12.40)
R 3= 8.4(18.94)
R 4= 10.5(13.03)

10.5(14.24) R 1=
1704001 R 2=
1.3(15.66) R 3-
0.0014.40) R 4=
e

14

R 1= 10.1{ 6.50)
R 2= 5.9(8.21)
R 3= 8.6( 9.58)
R4= 5.1(9.79)

R 1= 10.7( 5.26) R 1= 10.2( 6.50)
7.6( 8.54) R 2= 7.5(7.10)
7.9(8.18) R3= 9.7(7.03)
6.5( 9.39) R 4= 8.7( 8.15)
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80, — zxznas v=ie

I RREFER N2=45

1 EEEER N3=52

70- """ 2k N4=2196
60:
50;
*0 yk&le
30| s o
20
R 1= 16.9( 7.21)
3 R 2= 10.9(10.70)
R 3= 12.3(}1.59)
10 R 4= 10.5(13.03)

R 1= -3.4(11.81) R 1=
R 2= -3.1(14.57) R 2=
R 3= 0.6(15.53) R 3=
R 4= 0.0(14.40) R 4=

5.6( 9.22)
4.8(11.12)
6.0(12.91)
3.3{12.95)

R 1= B.6( 6.45)
R 2= 3.4( 8.00)
R 3= B.4( 8.01)
R 4= 5.1{ 9.79)

R 1=
R 2=

R 4=

8.2{ 5.81) R 1= 12.9( 4.22)
6.6( 8.96) R 2= 9.3(6.18)
8.7{ 7.18) R 3= 9.68(7.74)
6.5( 9.39) R 4= 8.7( 8.16)

&£ 100
BB EAE. 2EDNSEEOREHE (18 FHdRS)
B A (%) EEEER
EERRE]  FXEBBEIR 2EEER _ EeEER _
AREE Z it HhFRE |80 |5 PEPF PrE S |[E drtd TFIE |SF
Nt ] 1 1 1 1 2 1 1
1 BrEend 100.9 5.6| 60.0 50.0 44 100.9 1.2
2 CEPAE
- < 1 1 2 2 3 1 3 1
-1 EASAE 100.0 5.6 100.0 4.4 37.5 12.5 31.5 12.5] 15.4
_ « 1 2 1 3 5 2 11 1 3 4 1 1 10
3-1d Lo<KYH 33.3 66.7 16.7] 9.1 21.3 455 18.2 24.4] 10.0 30.0 40.0 10.0 10.0| 19.2
_ . 1 2 2 4 6 12 3 1 3 2 9
32 mIemdl 33.3 66.7 16.7| 16.7 33.3 50.0 26.7] 33.3 1.1 33.3 222 17.3
_ j 1 1 2 1 1 2 1 1 1 3
4 @ O’ H 50.0 500 L1 50,0 50.0 4.4 333 333 333 5.8
. ] 2 2
4 Lf_f_b\g 100.0 4.4
) 2 2 1 3 1 1
5 Lomy& 100.0 11| 66.7 33.3 6.7 100.0 1.9
6 ThHendd
- y 1 1 2 2 1 3 1 1
! Lo 50.0 50.0 1.1 66.7 33.3 6.7 100.0 1.9
] 1 1 2 1 4 1 6 2 4 5 1 12
8 [Eoo Y& 50.0 50.0 1.1l 167 6.7 16.7 13.3] 16.7 33.3 41.7 8.3 931
< 1 1 1 1 1 1 2
9 ITend 100.0 5.6 100. 0 2.2| 50.0 50.0] ‘a8
1 1 1 1 2 2 1 5
10 gobuE 100.0 5.6 100.0 2.2{ 40.0 400 20.0 9.6
&t 4 8 6 18 9 9 23 4 45 10 13 18 8 3 52
l:t$ 222 444 333 100.0 20.0 200 51.1 89 100.0 19.2 250 34.6 154 5.8 100.0
B AR (%) TR
ErREE FEEHESR | ¥RBEFR _ BEESR i
HUANE = it BPTFIE B |5 $rF WwriE St |lm wmt® $FE (&
1 $HEBGT 12 3 6§ | 5 5 7 17 |3 1 5 2 M
123-27 | 16.7 33.3 50.0 33.3 204 20.4 41.2 37.8| 27.3 9.1 455 18.2 21.2
I FLHEF 1 3 2 6 3 3 7 2 15 3 4 6 2 1 16
314510 | 16.7 50.0 33.3 33.3| 20.0 20.0 46.7 13.3 33.3] 18.8 25.0 375 12.5 6.3 30.8
o FAZEGTE 1 1 4 4 3 1 3 1 8
3146 |100.0 5.6 100, 0 2.9 3.5 125 37.5 12.5| 154
IV &2 URF 2 1 3 1 5 1 7 3 4 5 1 1 14
] 8.9 66.7 33.3 16.7) 14.3 7.4 14.3 15.6] 21.4 286 357 7.1 11| 269
ViE & ¥ 1 1 2 1 1 2 i 1 3
3-4 50.0 50.0 1.1 50.0 50.0 4.4 33.3 333 33.3 5.8
&F 4 8 6 18 9 9 23 4 45 10 13 18 8 K} 52
tt$ 222 444 333 100.0 20.0 20.0 51.1 89 100.0 19.2 25.0 34.6 154 5.8 100.0
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&g 101
BYHRERE. FENDMBREDRERFY (F28 qziﬂ@ﬁﬁ\)
B4 AK(%) EFHhR
SRR FEXEHEER FEEFTR _ BEIBRSRE
AR = HhEd oTIE |5 |E Pt HFE |8 |8 St T IE (83
) 1 1 1 1 2 2
1 BEeHE 100.0 4.2 100.0 2.3 100.0] 42
2 ZFEPHE
- . 2 1 3 2 1 3
-1 Eaend 66,7, 33.3 1.0 66,7 33.3 6.3
_ . 2 3 2 7 2 6 4 1 13 2 4 4 1 1 12
3-1d Lo<yH 28.6 42.9 28.6 20.2| 15.4 46.2 30.8 1.1 30.2| 16,7 33.3 33.3 8.3 83| 250
- .= 3 2 5 4 1 5 1 1 5 2 4 2 13
-2 oAl 60.0 40.0 208 36.4 01 455 9.1 25.6| 38.5 15.4 30.8 15.4 27.1
_ y 1 1 1 1
-4 @ O’ M 100. 0 4.2 100,0 2.1
4. 1 1
4 Lizf=mh& 100.0 23
y 1 1 1 1
5 Lonyi 100, 0 4.2 100, 0 2.1
1 1 1 1
6 chenldl 100. 0 4.2] 100.0 2.3
- 1 1 2 2 1 1 2
1 Ll 100. 0 4.2| 100.0 4.7 50.0 50.0 4.2
1 2 1 3 2 4 1 1 11 1 2 6 1 10
8 [EooyH 25.0 50.0 25.0 16.7) 273 18.2 364 9.1 91| 256 10.0 200 60.0 10.0 20.8
z 1 1 2 1 2 3
9 IRTend 50.0 50.0 8.3 3.3 66.7 6.3
.| 1 1 1 1
10 EobYE 100.0 4.2 100.0 2.1
&8 9 7 1 1 24 14 10 13 4 2 43 10 9 19 7 3 48
bt$ 375 292 29.2 42 100.0 326 233 30.2 93 47 100.0 20.8 18.8 396 146 6.3 100.0
EL A (%) EFEYihEg
FHREE _ FEEEESR _ 1 Z2XBFR 1 EBEER _
BEAWRE B BmEd SFE |5 b HPTIE (B E b $TFIE IS
1 §4B4F% 4 1 2 7 6 1 5 2 14 5 3 5 2 2 17
123-27 | 511 14.3 28.6 29.2| 429 7.1 367 14.3 32.6| 20.4 17.6 29.4 11.8 11.8] 35.4
I FLHEF 3 4 2 9 2 6 4 1 13 3 4 5 1 1 14
3-1d510 | 33.3 44.4 222 7.5 15.4 462 30.8 1.1 30.2| 21.4 286 357 7.1 7.1l 29.2
I ITAZERF 1 1 3 1 1 5 2 1 3
3-146 100. 0 4.2] §0.0 20.0 20.0] 1.6 66.7 33.3 6.3
NV L2ULF 2 1 2 1 3 2 4 1 i 11 1 2 yi 3 13
Y 33.3 16.7 33.3 16.7 25.0f 27.3 182 36.4 91 91| 256 7.7 15.4 53.8 23.1 27.1
VR K # 1 1 1 1
34 100.0 4.2 100.0 2.1
&5t 9 7 7 1 24 14 10 13 4 2 43 10 9 19 7 3 48
ttg 375 292 292 42 1000 326 233 302 9.3 4.7 1000 208 188 396 146 6.3 1000
80, — zxEnEs n=
1 — 2REER N2=43
— BEEFR N3=48
70 - gk N4=2196

= 14.4( 8.38)

R 2= 18.0(11.67)
10 R 3= 10.1(11.79}
R 4= 10.5(13.03)

R 1= 3.7( 9.81)
R 2= 1.3( 8.75)
R 3= 1.4(10.12)
R 4= 0.0(14.40)

14

6.4( 9.06)
§.5( 8.92)
4.7(12.99)
3.3(12.98)

= 7.8(7.11)
= 65.4(9.38)
= 6.1(7.51})
= 5.1(98.79)

R 1=
R 2=
R 3=
R 4=

5.6(11.67)
7.5( 8.36)
7.8( 8.30)
6.5( 9.39)

R 1= 11.1( 5.54)

R 2= 9.9(8.71)
R 3= 8.5(6.13)
R 4= 8.7( 8.18)

2%

3F

45

54

64



ar 102
EBENFENE. REMNDMBEORERY (B30 THHRKRS)
B AL (%) SR
EREERE __ 2REPESIR ¥FEBSK _ EEESIRE
AR = @®mrm &oFE [l Bt STFE &H|E $EtHh $TFIE [8FF
32 )] 1 1 2 3 3
1 Bresd 50.0 50.0 33.3 100.0 7.0
2 ZELHNE
- < i 1 1 2 2 1 3
3-1 e nE 50.0 50.0 4.7 66.7 33.3 6.8
- . (N3] 1 1 1 1 1 3 1 6 1
3-1d Co<KUH 100. 0 16.7] 33.3 33.3 333 1.0 12.5 75.0 12.5 18.2
" HZ j 1 1 4 2 3 3 12 2 3 1 9
3-2 s Cendl 100. 6 16.7| 33.3 16.7 250 250 97.0] 22.2 33.3 33.3 111 20.5
- i 1 1 1 3 1 1 1 3
4 @moR A 33.3 33.3 33.3 7.0/ 33.3 33.3 33.3 6.8
4 Li=f=Hh&
[BE.7] 2 2 1 1
5 LohyHE 100.0 4.7 100. 0 2.3
j 1 1 1 1
6 shPhd 100.0 2.3 100. 0 2.3
. . 3 3 i i
! L7l 100.0 7.0 100.0 2.3
L) i 1 1 2 3 1 3 1 8 3 6 3 12
8 [EooYHE 50.0 50.0 33.3] 31.5 12.5 37.6 12.5| 18.6] 25.0 50.0 25.0 27.3
= 1 1 1 2 4 1 3
’ £ T AL 25.0 5.0 50.0 9.3 25.0 75.0 9.1
L 1 1 2 1 1 2
10 gobYE 50.0  50.0 4.7 50.0 50.0 45
&H 2 2 2 6 17 7 10 8 1 43 6 14 15 9 44
l:t$ 333 333 333 100.0 385 16.3 23.3 18.6 23 100.0 13.6 318 34.1 205 100.0
% A S (%) EFHEhiE
AAMBEE __ EEIEEEER 1 2EESR BEHEER _
HUAFE = Pt orE RiflE& _®tdh BTFTE [ |E St PFIE S
I §4BTF 1 1 1 3 7 2 6 3 18 2 4 3 1 10
1.23-27 | 33.3 333 33.3 50.0] 38.9 11.1 33.3 16.7 41.9] 20.0 40.0 30.0 10.0 22.7
I FLHAEF 1 4 2 1 7 2 6 3 11
3-1d,5,10 | 100.0 16.7| 67.1 28.6 14.3 16.3 18.2 54.5 27.3 25.0
o IFAZEHEF 1 1 1 3 2 2 4
3-1.4.8 33.3 33.3 333 7.0 50.0 50.0 9.1
N &-UVHF 1 1 2 4 1 1 5 1 12 3 7 3 3 16
89 50.0 50.0 33.3] 23.3 8.3 83 41.7 83| 279 18.8 438 188 188 36.4
VHE B ¥ 1 1 1 3 1 1 1 3
3-4 33.3 33.3 33.3 7.0] 33.3 33.3 33.3 6.8
=1 2 2 2 6 17 7 10 8 1 43 6 14 15 9 44
_&ﬁ 333 333 333 1000 395 16.3 233 18.6 23 100.0 13.6 318 34.1 205 100.0
80, — #xEnES M=
— RREHR N2=43
I— EREFR NI=44
701 &tk Na=2196
60
50

40;

30

20
10

R 1= 7.3(15.03)
R 2= 12.4(12.46)
R 3= 13.3(12.90)
R 4= 10.5(13.03)

R 1= 4.8(12.26)
R 2= 1.3(12.67)
R 3= -1.7(14.03)
R 4= 0.0(14.40)

R 1= 3.6(7.72) R 1= 11.1( 5.49)
R 2= 4,0(10.76) R 2= 6.8{10.40)
R 3= 4.1(11.58) R 3= B.7(7.89)
R 4= 3.3(12.95) R 4= 5.1{ 9.79)

R 1= 0.7(9.92}
R2= 7.6(8.01)
R 3= 9.6(10.42)
R 4= 6.5( 6.39)

R 1= 11.3( 6.99)
R2= 8.1(6.30)
R 3= 11.4( 6.33}
R 4= 8.7( 8.18)

T
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&6k 103
EBEEERE. 2EMOOBEORERY (B4 Sﬁfﬁﬂﬁiﬁﬁ)
A (%) S FiHihig
AERE| _SEEOERE | | ®EEER ] wwmERR )
AfER E htd thFrE [ Bt T E | EF Lttt &FE [SF
s 2 2 2 1 3 1 1 2
1 sreehd 1000 16.7 66.7 33.3 5.1 50,0 s0.0] ‘37
- 1 1 2
2 cEeAL 50.0 50. 0 3.4
- - 1 1 /
3-1 IEMR S HME 50.0 £0.0 37
— . ] 1 1 2 5 2 11 1 6 4 3 2 |16
3-1d CLo< Y3 50.0 50.0 16.7) 18.2 18.2 45.5 18.2 18.6] 63 37.5 250 18.8 12.5| 29
- .= )y 2 1 8 1 0 1 1 4 6
-2 mlend 100.0 16.7 10.0 80.0 10.0 16.9] 16.7 16.7 66.7 1.1
- 1 1 1 1 2 2
4 @ R X 100. 0 8.3/ 100.0 1.7 100.0 3.7
4 1 1
4 Licr=inEl 100.0 1.7
5 Lomy#
1 1 1 1
6 Thendl 100. 0 1.7 1000 1.9
~ 1 1 2 2 2 6 1 1 2
7 Lgendl 100,0 83| 333 333 33.3 10.2| 50.0 50.0 3.7
1 1 3 4 5 15 3 2 3 1 1 10
8 EooyYH 100, 0 8.3 20.0 26.7 20.0 33.3 25.4| 30.0 20.0 30.0 10.0 10.0| 185
% 1 1 1 1 2 4 1 4 2 2 1 10
9 RTenil 100, 0 8.3| 25.0 25.0 s0.0] 6.8l 10.0 40.0 20.0 20.0 10.0] 18.5
1 1 2 4 1 5 3 3
10 gobYH 50.0 50.0 16.7) 80.0 20.0 8.5 100.0 5.6
et 7 3 2 12 15 1 21 10 2 59 11 15 17 6 5 54
H“$ 58.3 250 16.7 100.0 254 18.6 35.6 16.9 34 100.0 204 278 315 111 9.3 100.0
R A (%) S FEHHE
GRERE| SEIUEER — EEEEE T anEak _
B ARE = ot ohFrE [ lE PEd T HE [ (& Bt T E |6F
1 $hBRF 5 5 3 5 10 3 21 2 3 4 1 10
123-27 | 100.0 #1.7| 143 23.8 47.6 14.3 35.6| 20.0 30.0 40.0 10.0] 18.5
o0 £LHEF 1 1 2 4 6 2 6 2 16 4 6 4 3 2 119
314510 | 25.0 25.0 50.0 33.3| 37.5 12.5 37.5 12.5 271} 21.1 31.6 21.1 158 10.5| 35.2
oI IFAEHF 1 1 2 1 2 3
3-1.4.6 50.0 50.0 3.4] 33.3 66.7 5.6
V &2URF 1 1 2 4 4 4 5 2 19 4 6 5 3 2 |20
89 50.0 50.0 16.70 201 201 21.1 26.3 10.5{ 32.2| 20.0 30.0 25.0 15.0 10.0 37.0
VHE B & 1 1 1 1 2 2
3-4 100.0 8.3 100.0 1.7 100.0 3.7
&t 7 3 2 12 15 1 21 10 2 59 1 15 17 6 5 54
Lt$ 58.3 25.0 16.7 1000 254 186 356 16.9 34 1000 204 278 315 111 9.3 100.0

— ZREHEE N=12
— ZREFR N2=59
— EDEFHR N3I=54
24k N4=2196

0
)

= 14.8( 6.83)
= 12.4( 9.88)
= 11.4(13.80)
= 10.5(13.03}

R 1= 11.2(8.02)
R 2= 6.3(31.83)
R 3= 1.2(13.80)
R 4= 0.0{14.40)

7.5(10.89)
6.8(10.22)
6.3(12.15)
3.3(12.85)

R 1= 10.2( 5.46)
R 2= 7.4(6.79)
R 3= 6.0(10.58)
R 4= 5.1(9.79)

R 7= 10.8( B.85) R 1= 16.3( 6.32)
R 2= 8.7(7.93) R 2= 10.4( 7.30)
R3= 8.5(8.11) R 3= 8.4(9.32)
R 4=  6.5(9.39) R 4= 8.7(8.18)
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ge 104
EBEEERE. RENDNBEEDORZRE (F5H TFHEKRS)
BE I AR (%) & HEhiR
TRRRE| _ SEEDEAR SEBEER - 1] £3) -
ARER = Pth $FE (8| PLH® PTE (B | Wt BHFE |G
1 BEeHE
2 g bt
- < 1 1 1 1 2 4
1 BAteAE 100.0 10,1 2.0 25.0 50.0| 8.9
n . 1 1 1 2 6 9 2 4 1 7
$1d Lo<Ua 100.0 ol 11 222 667 2.1 28.6 5.1 143 15.6
_ - 1 1 1 3 3 3 3 1 1 1
2 oend 3.3 33.3 333 33.3| 50.0 50.0 15.4] 50.0 16.7 167 16.7 13.3
_ 1 1 1 1 1 2 1 1
A4 @ R 4 100.0 11.1] 100.0 2.6{ 200 40.0 200 20.0 111
. f. 1 1
4 Lf=f-h# 100.0 26
5 LomhyYH
1 1 1 2
6 Sheid 50.0 50.0 5.1
- 1 1 2
! Laehd 500 50.0 1.4
) 2 1 3 1 5 3 1 1 11 1 3 4 4 2 114
8 EooyH 66.7 33.3 3.3 9.1 455 27.3 9.1 91| 282l 71 214 286 286 143| 311
= J 3 1 4 2 2 1 5
9 C 75.0_25.0 10.3] 40.0 40.0 20,00 11,1
2 2 1 5 1 1 2
10 EohYE 40.0 0.0 20.0 12.8] §0.0 50.0 4.4
&5 3 2 3 1 9 8 7 19 4 1 39 8 11 12 9 5 45
H_’,$ 333 222 333 1l 1000 205 178 487 103 26 1000 178 244 267 200 111 1000
B A (%) & F iR
BRRRE _ FREHBIR _ REESR _ EHEER _
FUARE B Pt fFE Fif |5 wtoe ST E B |m SLo FFIE [S5
1 va8EF 1 1 1 3 3 3 6 3 2 2 1 8
123-27 | 333 3.3 333 33.3] 50.0 50.0 15.4] 37.5 250 250 12.5 17.8
I £LOEF 1 1 3 2 8 1 14 1 3 4 1 9
3-145.10 100.0 110 214 143 511 71 35.9| 1.1 333 444 111 2.0
I IFAEETF 1 1 2 1 3 1 1 2 4
3-1.48 100.0 1.1 66.7 33.3 1.1 2%5.0 5.0 500 89
N E-UHF 2 1 3 1 5 6 2 1 15 3 3 4 6 3119
89 66.7 33.3 33.3| 6.7 33.3 400 133 67| 3850 158 158 211 316 15.8 42.2
VHE R ¥ 1 1 1 1 1 2 1 1 5
3-4 100.0 11.1] 100.0 2.6 20.0 40.0 200 20.0 1.1
&tk 3 2 3 1 9 8 7 19 4 1 39 g8 11 12 9 5 45
]:t$ 333 222 333 1Lt 1000 205 179 487 103 26 1000 178 244 267 200 111 100.0
80, — 2xEnms =
1— 2xEXR N2-20
— EMEE R N3=45
70 """ 2tk Na=2196
60
50

40

30,

(0
{7

i

fii

(s

20
R 1= 14,3(19.32) R 1= 10.5(14.24) R 1= 9.2( 9.64) R 1= 10.1{ 6.50) R 1= 10.7( 5.28) R 1= 10.2( 6.50}
3 R2= 9.5(12.40) R 2= 1.7(14.11) R 2= 2.1(10.86) R 2= ©5.8( 8.21) R 2= 7.6{ 8.54) R2= 7.5(7.10)
10 R 3= 8.4(19.94) R 3= 1.3(15.86) R 3= 5.8(14.51) R 3= 8.8( 9.56) R3= 7.9(8.18) R3= 98.7(7.03)
1 R 4= 10.5(13.03) R 4= 0.0(14.40) R 4= 3.3(12.85) R4 §.1( 9.79) R 4= 6.5( 8.30) R 4= 8.7( 8.18)
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BEE 105
WCHOBEEREORERENDMBEED R EFE(2K) )
: U AR (%) SEH R
SRR WeH-F _ WeHh->F _ mA
AFER m BF o hFE (S| 5 Pk &b bFE (A |5 BE B FFE |5
“ gt 2 1 3 1 3
1 BIEeME 66.7 33.3 3.1 66.7 33.3 2.8
2 "ERHB
- E y 1 4 2 2 3 12|1 1 1 1 4 1 1
3-1 @At s A E 8.3 33.3 16.7 16.7 25.0] 12.5] 250 250 5.0 25.0] 38 100.0 25.0
- . d 3 6 5 2 1 1711 7 6 5 21
3-1d Lo<Yi 17.6 36.3 29.4 11.8 59| 17.7] 48 333 286 238 95| 198
_ - — y 4 3 6 2 1513 3 3 13 1 1
-2 mIehdl 26.7 20.0 40.0 13.3 15.6] 23.1 23.1 30.8 23.1 12.3 100.0 25.0
_ @ g 3 1 4 2 2 5
4 @ R A 75.0 250 4.2 40.0 40.0 20.0 4.1
o o AT 1 1 1 1
4 Lizfe il 100.0 1.0 100.0] 0.9
y 3 4
5 Lomydl 25.0 75.0 3.8
i 1 1 3i1 3 2
- 6 ehend 33.3 33.3 333 3.1 14.3 14.3 42.9 286 6.6
. g 1 111 1 3
7 7 Lemnd 100.0 1.0 33.3 33.3 33.3 2.8
J 4 3 8 3 2 2013 7 8 6 25 1 1
8 [EooYH 200 15.0 40.0 15.0 10.0| 208 12.0 280 320 240 40| 236 100.0 25.0
S J 2 2 3 3 2 121 3 5 4 16 1 1
9 ETeni 16.7 16.7 25.0 25.0 16.70 12.5| 6.3 18.8 31.3 250 18.8| 151 100.0{ 25.0
L) 2 1 4 1 811 2 1 4
10 gonyl 25.0 12.5 50.0 12.5 8.3] 25.0 50.0 25.0 3.8
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